y I,

Pro-SD/GSD @

Automation for sliding doors

Instructions and warnings for installation and use




Warranty .....oviiiiiii i e 3
Verification of Operator and Hardware ....................... 4
Specifications . ..........ccoiii it i e e 5
Operator DIMeNnSIONS . . ...t 6
Important Safety Instructions. .....................c00eet 7
Important Installation Instructions. .......................... 7
Installation Instructions ...............ccoiiii i 8
Preparation . ......... .. . . 8
Operator Installation...............cccoviiiiiiiiiiiinnns 10
Electrical Connections .............ccvviiiiiiiiiiinnneenns 13
SECTION A: PRO-SD,PRO-GSD ..........vvuuns 14
CGonnection of Power Supply and Control Station .............. 14
Limit Switch Adjustment. ................ciiiiiiinna, 14

Connection of a Reversing Edge Device and Control Accessories . 15
SECTION B: PRO-SD(M), PRO-GSD(M) Relay Logic

Controls with Interface Module. ................. 16
CGonnection of Power Supply and Control Station .............. 16
Operator Electrical Connections and Start-up Instructions . . . ... ... 16
SECTION C: PRO-SD(E), PRO-GSD(E): Full Feature
Logic Board Smart100 ....................... 19
Connection of External Single-Button Device .................. 21
Modes of Operation . ............c.c i 21
Programming Instructions. .. ........... .. . o 23
Run-TimerSetup . ... 23
Mid-Stop SEtup . ... 24
Timerto Close Setup . ..o oo 24
Delay on Close Setup (only for use with optional apartment board). . . 24
On-Board Receiver Programming . ......................... 24
Installing the Antenna. .. .......... .o 24
Programming the On-Board Radio Receiver . . ................. 25
OPeration. . ... 25
To Erase all Learned Transmitters . ......................... 25
Replacing Remote Control Batteries. . ....................... 25
Dip-Switch Setup . .. ..o 26
StatUSLED. . 26
SECTION D: For all Operator Control Types ....... 27
Limit Switch Adjustment. ...t 27
SECTION E: For Operators with Interface Modules or
Logichoards..........ciiiivnrrrnnnnnnnnnnnns 28
Installation of Nice N-1 or N-4 Photocells .................... 28
Installation Safety Precautions. . ........................... 28

Wallinstallations ......... ... .. ... ... . 28

NICE N-4 Photocell (MK00650) .................. 29
Wall installation ............ .. 29

For Nice Nema-1 photobeams. . ........................... 30
FRABA N-4/4 Thru-Beam Photocell (MK00697) ... ............. 31
Clutch Adjustment. . ..........coiiiiiiiiiii e 32
PRO-SD. . 32
PRO-GSD. . .o 32
Brake Adjustment . ......... ... il e 33
PRO-SD. .o 33
PRO-GSD. .. o 33
Emergency Manual Operation .....................ccouuns. 34
Operator Maintenance. . ..........ccovvviiiinnrernnnnrennns 35
Sliding Door PRO-SD Single/Bi-part Diagram ................. 36
Trolley Operator Pro-SD PartsList .......................... 37
Sliding Door PRO-GSD Single/Bi-part Diagram ................ 39
Trolley Operator Pro-GSD PartsList...................ccouut 40
MS100-WW 1-Phase Wiring Diagram. .............ccovuunnn. 42
MS100-IM-WW 1-Phase Wiring Diagram..................... 43
MSL100-110V-WW 1-Phase Wiring Diagram.................. 44
MSL100-220V-WW 1-Phase Wiring Diagram.................. 45
MSLC100-WW 1-phase Wiring Diagram. ..................... 46
MS300-WW 3-Phase Wiring Diagram. ...............ccouunnn. 47
MS300-IM-S Wiring Diagram . .............ccoiiiiiinnnnnnn.s 48
MSL300-WW 3-Phase Wiring Diagram. ..............cc00uunnn 49
MSLC300-WW 3-Phase Wiring Diagram. ..................... 50
NOteS . ...t s 51



NICE NORTH AMERICA warrants that materials and workmanship are free from defects for a period of four (4) years or 100,000
cycles, whichever comes first. The start of the warranty will be determined by the date of invoice. Materials returned to Nice
deemed defective after examination will be returned at the option of Nice with repaired, new, or re-manufactured parts.

NICE NORTH AMERICA will not be responsible for any charges incurred in the process of returning defective material. All returned
material must be received pre-paid, or it will not be accepted.

This warranty is limited, and in lieu of all other warranties expressed or implied. There is no expressed liability due on the part of

the seller.

MP00041-44

*

MP00023

MP00045

MP00039
PRO-SDW/GSDW___
PRO-SD4X/GSD4X_
PRO-SDX/GSDX___
MP00007*
MP00061**
MP00001**
PRO-PL___
MX00005

MX00006

MX00007

* Not available for logic board controls

#40 Drive Chain
#50 reduction chain and sprockets

Double V-belt reduction (PRO-SD)
Cast-iron Pillow block bearings on drive
High Cycle maodification (PRO-SD)
Waterproof Modification
Corrosion Proof Modification
Explosion Proof Modification

115 Volt Control Circuit

1.5 Sec Time Delay on Reverse
Timer to Close

Separate Control Panel

Bi-parting Option

Fire Door Option (Single Slide)
Fire Door Option (Bi-Parting Slide)

** Standard feature with logic board controls

A WARNING A

DO NOT CONNECT TO ELECTRICAL POWER DURING
INSTALLATION OR SERVICING OF OPERATOR.

IMPORTANT

FOR ANY QUESTIONS CONCERNING THE SAFETY OR OPERATION OF THIS OPERATOR
PLEASE CONTACT NICE AT 1-877-888-1116.

SAVE THESE INSTRUCTIONS




Verification of Operator and Hardware

Upon delivery of your Nice heavy-duty trolley door operator, please inspect the unit carefully for damage. Verify that operator
horsepower, voltage, phase and amperage correspond to available power supply and door application. Check that along with your
operator you have received the following standard hardware.

1 x OPEN /CLOSE/STOP 3-button control station

1 x Set of trolley tracks (door height + 2'6”")

1 x Drive chain package (door height x 2 + 5’ 6” (1.65m) ¢/w connecting link

1 x Sliding Door Carriage c/w two 3/8” take up bolts

1 x Trolley track end bracket

1 x Front idler c/w 41B12 sprocket
22 x 3/8” x 1” bolts and 22 serrated hex nuts 3/8”

Bl A
NN

NN

1 x Trolley arm assembly

r(arren (@

Pal.

4 x Sliding door hanger brackets

1 x Floor level disconnect bracket

1 x Warning sign

1 set of Nice photocells (supplied when operator ordered with interface module
or logic board controls)

WING NUT, LED

For Bi-Parting Option: Add 1 extra Floor level Disconnect, 1 extra sliding door
disconnect bracket and 1 x Special Bi-parting sliding door carriage

4



Specifications

PRO-SD and PRO-GSD heavy-duty sliding door operators are designed for industrial sliding doors or sliding fire doors. Model PRO-
SD is a belt drive operator. The PRO-GSD is essentially the same as model PRO-SD with the exception that it utilizes a heavy-duty
worm gear as its primary reduction. The PRO-GSD is used for larger / heavier sliding door applications.

Standard Operator Weight PRO-SD (50-70 Lbs.), PRO-GSD (80 — 120 Lbs.)

Motor
e  Horsepower: PRO-SD

*  Horsepower: PRO-GSD

e \oltage

Reduction

Output Shaft Speed

Door Speed

Brake

Wiring Type (3 Options)

Transformer
Limit Adjustment

Emergency Disconnect

Clutch

Continuous duty 1725 RPM industrial type motor. Full overload protection.

1/3 HP 1/2 HP 3/4 HP 1 HP (1-phase & 3-phase)

1/2 HP 3/4 HP 1 HP 1.5 HP (1-phase & 3-phase)

115V 1-phase (60Hz) 230V 3-phase (60 Hz) 220V 1-phase (50Hz)

230V 1-phase (60Hz) 460V 3-phase (60Hz) 380V 3-phase (50Hz)
575V 3-phase (60Hz)

Primary: PRO-SD: (5L) V-belt and pulleys PRO-GSD Heavy duty worm gear 20:1 (standard) or 40:1 reduction

Secondary : #41 chain and sprockets

PRO-SD (Single door): 120 RPM

PRO-SD (Bi-part): 70 RPM

PRO-GSD (Single door): 85 RPM

PRO-GSD (Bi-part): 45 RPM

PRO-SD (Single door): 11” - 12”/sec.

PRO-SD (Bi-part): 6” - 7”/sec.

PRO-GSD (Single door): 8” - 9”/sec.

PRO-GSD (Bi-part): 4” - 5”/sec.

Solenoid actuated drum and brake shoe braking system to prevent coasting and maintain door position.

Option 1: Full Feature logic board Smart 10.0 (UL325 (2010) compliant). NOTE: Nice compatible primary
entrapment device must be connected for B2, T or TS (momentary or timer activation on close) feature.

Option 2: Relay logic controls with Interface Module (UL325 (2010) compliant). C2 Standard factory wiring
(constant pressure on close, momentary contact on open and stop). If momentary contact on close (B2) wiring is
desired, move “white” wire from terminal #6 to terminal #3. NOTE: Nice compatible primary entrapment device
must be connected for B2 (momentary activation on close) or for T (timer to close) feature.

Option 3: Standard relay logic controls (not UL325 (2010) compliant, not available in US) C-2 Wiring constant
pressure on close, momentary contact on open and stop. NOTE: If momentary contact on close (B2) wiring is
desired, move “white” wire from terminal #5 to terminal #3.

24VAC control circuit, supplies power to drive control relays with 15VA power available for external devices.
4 micro switches that control door travel. These limit switches are activated by fully adjustable screw type cams.

Quick release disconnect door arm to allow person to disengage operator drive chain from door for manual
operation.

Adjustable in-line friction clutch to minimize damage to door operator, door or vehicles.

2 HP (3-phase)



Specifications

Operator Dimensions

24.125 13.250
6.000

4“IL

PRO-SD (Single door)

28.841
[e] o 00O == [¢]
o0 2
= o
PRO-SD (Bi-parting door) “ \
18.000.‘ 7 — B
_,/
i 004 .5 <@
1o — L] =
£26.100
N e
PRO-GSD I | ]
TEFC MOTOR ° 174t
W o
O o
]




A WARNING A

TO REDUCE THE RISK OF INJURY OR DEATH..

Important Safety Instructions

e READ AND FOLLOW ALL INSTRUCTIONS
e Never allow children to operate or play with door controls. Keep the remote control (where provided) away from children.

¢ Personnel should keep away from a door in motion and keep the moving door in sight until it is completely closed or opened. NO
ONE SHOULD CROSS THE PATH OF A MOVING DOOR.

e Test the door’s safety features at least once a month. After adjusting the limit of travel, retest the door operator’s safety features.
Failure to adjust the operator properly may cause severe injury or death.

e For products having a manual release, if possible, use the manual release only when the door is closed. Use caution when using
this release when the door is open. Weak or broken springs may cause the door to fall rapidly, causing severe injury or death.

e KEEP DOORS PROPERLY OPERATING AND BALANCED. See Door Manufacturer’s Owner’s Manual. An improperly operating
or balanced door could cause severe injury or death. Have trained door systems technician make repairs to cables, spring
assemblies, and other hardware.

¢ Press the “OPEN” device or use emergency disconnect mechanism if a person is trapped under the door.

e SAVE THESE INSTRUCTIONS. The owner or users must understand the safety and operation of door system. Insure that this
installation manual be located close to the door system.

Important Installation Instructions

e READ AND FOLLOW ALL INSTALLATION INSTRUCTIONS
e Commercial door operators are never to be installed on a residential installation.

e |nstall the operator only when all openings of the horizontal slide door are guarded or screened from the bottom of the door to
a minimum of 4ft (1.22m) above the ground to prevent a 2-1/4” (57.2mm) diameter sphere from passing through the openings
anywhere in the door.

e |nstall only on a properly operating and balanced door. A door that is operating improperly could cause severe injury. Have
qualified service personnel make repairs to cables, spring assemblies, and other hardware before installing the operator.

e Remove all pull ropes and remove, or make inoperative, all locks (unless mechanically and/or electrically interlocked to the
power unit) that are connected to the door before installing the operator.

e |nstall the door operator at least 8 feet or more above the floor if the operator has exposed moving parts.
¢ Do not connect the operator to the source of power until instructed to do so.

e [ ocate the control station: (a) within sight of the door, (b) at a minimum height of 5 feet so that small children cannot reach it,
and (c) away from all moving parts of the door.

e Install the Entrapment Warning Placard next to the control station in a prominent location.

e For products having a manual release, instruct the end user on the operation of the manual release.

e |nstall non-contact entrapment protection devices (photocells) and/or contact entrapment protection devices (reversing edges).
NOTE: photocells should be installed at no more than 6” from the floor. Edges should be installed on the leading edge of the door.



Installation Instructions
A WARNING A

DO NOT INSTALL THIS OPERATOR BEFORE READING THIS
MANUAL CAREFULLY.

NOTE:

e |nstallation of operator must be done by a qualified installer. Door must be properly installed and
working smoothly. Remove all door locks prior to installation.

1. Install control station away from all moving door parts, within sight of the door and a minimum of
5 ft (1.5 m) from the ground.

2. Install entrapment warning sign next to control station.

Preparation

1. Lay out operator and tracks on ground in front of door with door operator motor facing away from door (PRO-SD) or towards
door (PRO-GSD).

2. Install track U-brackets evenly to track assembly.

3. Slide sliding door carriage through end of tracks towards operator. For Bi-part option, also slide the bi-part carriage through
the end of tracks.

4. Install front idler assembly to the second set of holes at the end of trolley tracks.
5. Bolt rail assembly to operator frame using four 3/8” x 34” bolts and 3/8” serrated hex nuts provided.

PRO-SD (Single Door) PRO-GSD (Single Door)
SLIDING DOOR CARRIAGE
- ! SLIDING DOOR CARRIAGE — !
TROLLEY IDLER Z?gth%lYIDLER
ASSEMBLY  reoLLEY TRACK TROLLES TRALK
U-BRACKET PRO-SD U-BRACKET
PRO-GSD
OPERATOR OPERATOR
PRO-SD (bi-part) PRO-GSD (bi-part)

BI-PARTING CARRIAGE
SLIDING DOOR CARRIAGE BISRART CARRIAGE

SLIDING DOOR CARRIAGE

TROLLEY IDLER
ASSEMBLY  1ppi | EY TRACK

U-BRACKET BI_PARTING FRAME
EXTENSION BRACKET TROLLEY TRACK

) = U-BRACKET
PRO-SD OPERATOR

TROLLEY IDLER
ASSEMBLY

PRO-GSD
OPERATOR



Installation Instructions

6. Single Part Door: Attach one end of drive chain to one of the 2 take-up-bolts on carriage using connecting link provided.
Run chain under the u-brackets, around front idler, around drive sprocket and connect to the other take-up-bolt on carriage
using connecting link provided. Adjust take-up-bolt so that chain sags approximately 3” (7.5 cm) at midpoint of tracks.
Remove links from drive chain if necessary to make proper adjustment.

Bi-Part Door: Position the 2 sliding door carriages so as to be approximately 8 inches to the left and right of centerline of bi-
parting door system. Attach one end of drive chain to one of the 2 take-up-bolts on sliding door carriage using connecting link
provided. Run chain through the bi-part carriage, under the ubrackets, around front idler, attach chain to bi-parting carriage
using the three bolts nylon nuts located on biparting carriage (note: do not tighten nylon nuts yet), and round drive sprocket
and connect to the other takeup-bolt on sliding door carriage using connecting link provided. Adjust take-up-bolt so that chain
sags approximately 3” (7.5 cm) at midpoint of tracks. Remove links from drive chain if necessary to make proper adjustment.




Operator Installation

1. Install the 4 hanger brackets to the 4 U-brackets on rail assembly using 3/8” bolts and nuts supplied. Do not tighten the nuts.

2. Raise operator and track assembly and secure (but not tighten) the 4 hanger brackets to the wall using appropriate
hardware. Note that the hanger brackets are slotted to allow for depth adjustment of track assembly.

o L -]
o o o
I
. il ! s 0 o
- - ﬁ =
MH r/_/_7;7 S&/;f 77 T 777 7 q4' 7 7_/_7/7_ ° T 7 77
ol S ANEY ST T T A A L ANCH AN T ~
. o rf 7.350 T S
. H—F o o
' B - o]
- | ol ..\ﬁ i
E H
= -3
=] - 6.000 O - e
£ 18.000 / Al
Ell o | é & 14,000 flo . ool,.
=S
I ‘ 6.100 |
/ | @
| —3.000

3. Using suitable hardware, install the sliding door disconnect bracket to door as shown below. For bi-part option: install 2
disconnect brackets. Adjust the disconnect bracket(s) as well as the operator and track assembly so as to allow for 1”
diameter shaft to align with and engage tube of sliding door carriage. Tighten bolts. At this time make final adjustment of
drive chain and tighten 3 nylon nuts on bi-parting carriage.

Single Part Door

_‘_E‘J

¥ £
- Ll — 7390
—
6000 { B
18.000 =
Etof 14.000

10



Operator Installation

Bi-Part Door

77 IESIes SVER SN, o o VA A A A ey
° e S Aa Vv iy )
(] IR % | A P 2
M~ 7350 -

o e Qo

6.000 |
18,000

14.000
S,

sji F

ol [o]
3.000—§-] 6.000
=

I
4. Install the floor level disconnect bracket directly below the disconnect bracket at approximately 4’ above the floor. Cut and

attach sash chain to ring of floor level disconnect. When properly adjusted, engagement of the floor level disconnect should
pull 1” shaft of disconnect bracket downward so as to clear completely from tube in carriage.

Single Part Door

757 T E T AT S N7 T T TR 7 b o 4
LA A P s, r s s Py T S S S 3 i— P4 s S S 7 /7 s 7
(AP, | VATV S _1.,’/ PR

1 6.000
18.000

14,000

1 ml I
21,19

3,000
1 1
I I
| |
1 1

l
= = X A

11



Operator Installation

Bi-Part Door

=
P/‘i{ Fr—r /T/‘ ';7'/7 77-/;7/7_ £ )"7‘-— ), ;P : 7/- /;7[
L ) sy .cﬂ_m%z/_i;::_i z 2L ) ) ]
TR s o o UV = M
1 6.000 | |
18.000 18.000
14.000
1 ml * | I |
21,19
I 1 L |
I I |
I I I
| I I
48.000* 48,000"
L IL - L. - - - 1

5. At this time, check all bolts for tightness.
6. After installation is complete, remove red activation pin on reducer breather plug (For PRO-GSD).

12



Electrical Connections

These are 3 possible electrical control configurations for this operator:

A) Standard relay logic controls (not UL325 (2010) compliant, not available in US or Canada). Refer to Section A for electrical
connections. Refer to electrical drawings inside your operator control box or generic drawings MS100-WW or MS300-WW in
the electrical drawings section at the end of this manual.

B) Relay logic controls with Interface Module (UL325 (2010) compliant. Refer to Section B for electrical connections. Refer to
electrical drawings inside your operator control box or generic drawings MS100-IM-WW or MS300-IM-WW in the electrical
drawings section at the end of this manual.

C) Full Feature logic board Smart 10.0 (UL325 (2010) compliant). Refer to Section C for electrical Connections and logic board
instructions. Refer to electrical drawings inside your operator control box or generic drawings MSL100-110V-WW, MSL100-
220V-WW, MSLC100-WW, MSL300-WW or MSLC300-WW in the electrical drawings section at the end of this manual.

IMPORTANT

e EACH INDIVIDUAL COMMERCIAL DOOR OPERATOR MUST HAVE IT’'S OWN DEDICATED
POWER SUPPLY

e NICE HIGHLY RECOMMENDS THAT EACH INDIVIDUAL COMMERCIAL DOOR
OPERATOR HAVE AN EXTERNAL CIRCUIT BREAKER OR FUSED DISCONNECT

A WARNING A

COMPARE AVAILABLE POWER SUPPLY VOLTAGE TO OPERATOR NAMEPLATE PRIOR
TO ELECTRICAL CONNECTION. FAILURE TO CONNECT APPROPRIATE POWER SUPPLY
VOLTAGE MAY CAUSE SERIOUS DAMAGE TO OPERATOR.

Refer to electrical diagrams inside control box cover or at the end of this manual prior to connection of power supply or

control station.
A WARNING A

TO REDUCE THE RISK OF INJURY OR DEATH:
ALL ELECTRICAL CONNECTIONS SHOULD BE MADE BY A QUALIFIED SERVICE PERSON

DO NOT ATTEMPT TO MAKE ELECTRICAL CONNECTIONS TO OPERATOR UNLESS POWER
SUPPLY HAS BEEN DISCONNECTED AT FUSE BOX.

OPERATOR MUST BE CONNECTED IN ACCORDANCE TO LOCAL ELECTRICAL CODES AND
GROUNDED TO GREEN GROUND LUG LOCATED INSIDE CONTROL BOX.

13



SECTION A: PRO-SD, PRO-GSD
Standard relay logic controls (not UL325 (2010) compliant, not available in US or Canada)

Connection of Power Supply and Control Station

Power Wiring: Use 1-1/8” (2.85 cm) diameter holes for all power wiring.

1. Single Phase: Connect single phase power supply to terminals L/L1 (line) and N/L2 on three-pole power terminal strip.
2. Three Phase: Connect three phase power supply to terminals L1, L2 and L3 on three-pole power terminal strip.

3 BUTTON CONTROL STATION

1—PHASE 3—PHASE
R||®|(|® ®||®||®
O ||t ||nnz O o1 ||2{|L3||O
®
L/L1 N/L2 L1 L2 L3

CONTROL WIRING: Use 7/8” (2.22 cm) diameter holes for all control wiring.
NOTE: Do not run control wires and power wires in same conduit.

e |nstall control station within clear sight of door but away from all moving parts of door or hardware. Install Entrapment warning
sign next to control station. Connect 3-button (open/close/stop) push button station to terminals 2, 3, 4 and 5. Refer to electrical
diagram for connection of two 3-button stations.

NOTE: After electrical connections are made, manually move door to mid-position and, using the control station press the “Open”
button for several seconds and then press the “Stop” button. If door did not move in correct direction verify wiring control station.
For 3-phase operators, if door still moves in wrong direction reverse any two of the three incoming power supply leads to correct
rotation.

3—-PHASE

Q|||

O ||t ||2|| 3]|O

Limit Switch Adjustment

See Limit Switch Adjustment, page 27.

14



Connection of a Reversing Edge Device and Control Accessories

1. Reversing Edge device (must be normally open contact):

NOTE: If the door is controlled by any device or wired in such a manner that the door is not controlled by constant pressure
on close then an appropriate reversing edge must be installed.

QR 1
51| 6
®

2. External interlock: Remove jumper between terminals 1 and 2 and wire a N.C. interlock contact between these two

terminals. .
X
oll1]l2

3. Radio control receiver: Wire standard radio receiver to separate radio strip on side of control box or to terminals 7, 8 and 9

on control terminal strip inside control box.
SIS
< (7] 8] 9]©O

I

®
3

D ®

i

RADIO CONTROL
STRIP

=
S3

4. Single button open/close device: Wire to terminals 7 and 8 on control terminal strip.

Q@
718 <

“—

5. Loop detectors, standard photocells (with a N.0. contact) and other reversing devices: Wire to terminals 3 and 6 on

control terminal strip.
Q||| ®||®
< || 3]||4]/[5]| 6

BII®

iy

6. 24 Volt power: Wire to terminals 1 and 9 on control terminal strip.

CONTROL TERMINAL STRIP

||| ¥||X|| Q|| D||D|| || @

2||3(|4(]S5|/6f 7] 8

0|8|6]6]6]|8]s|
! i

15



SECTION B: PRO-SD(M), PRO-GSD(M) Relay Logic Controls with Interface Module
[UL325 (2010) Compliant]

Connection of Power Supply and Control Station

Operator Electrical Connections and Start-up Instructions

NOTE: THIS OPERATOR COMES WITH AN INTERFACE MODULE INTEGRATED INTO THE CONTROL CIRCUIT. THE PURPOSE OF THE
INTERFACE MODULE IS TO ALLOW FOR FAILSAFE MONITORING OF A NICE COMPATIBLE SAFETY DEVICE AS PER UL 325 (2010)
REQUIREMENTS.

Important: Follow these steps carefully and in the order shown:

1) Connect Power supply
Single Phase: Connect single phase power supply to terminals L/L1 and N/L2 on the 3-pole power terminals strip.
3-phase: Connect 3-phase power supply to terminals L1, L2 and L3 on the 3-pole power terminal strip.

1—-PHASE 3—-PHASE
X|(|||® R||X||®
O |y O O it |j2)f{L3||O
®
L/L1 N/L2 L1 L2 L3

2) Connect Push-button station for installation purposes (single phase or 3-phase)
Connect open/close/stop push button station to terminals T2 (stop), T3 (common), T4 (open) and T6 (temporary CP on close).

RESISTOR 10K OHM

D\ DD %

3 BUTTON CONTROL STATION
(INSTALLATION PURPOSED

16



3) Verify Motor Direction

After the electrical power connections are made and push button station is connected, manually move the door to mid-position.
Press Close button for several seconds and then press stop button. If door did not move in correct direction (or if limit cams not
moving in correct direction towards the close limit switch) see below:

Single Phase Operators: The operators leave the factory with correct motor and limit shaft direction according to standard door
installations. However, for special fire door, thru-wall mounting or other special door applications, the motor direction and limit
switch direction may need to be reversed. To reverse the motor rotation, interchange black and white wires going to motor on the
reversing contactor.

3-Phase Operators: If door moves in wrong direction, turn off incoming power and reverse any two of the three incoming power
supply leads to correct rotation. Press the open button and then activate the open limit to ensure door stops. If door does not stop,
interchange gray and red wires on open and close limits. Interchange white and gray wires on advanced open and advanced close
limits. Remove blue wire from advanced open limit and place it on N.O pin of advanced close limit.

anvancen O
.l O LT sviTeH

N

/\ /\ /\
= C. rax NC. O NC. - _ Gray N.C. B
e — m#wm?[: * A
O N.O. L0, O O N.O. .0, O
e e o
coM

coM "‘RANGE—| ‘ |—-mNGE coM "Rmz—| ‘ |—uRmG: cOoM

4) Adjust Limit Switch Cams

Using the open/close/stop push button station move door to fully closed and fully open positions and set limit cams to correct
position. (See Limit adjustment section D further in this manual for complete detail on the end of travel limit adjustments).

5) Activate Interface Module

After adjusting the open and close limits and verifying the motor rotation, open the door to the full-open position using the open
push button (Figure below on left).

At this point the close pushbutton wire must now be moved from terminal T6 to T5. Now connect the black wire (with blue label) to
terminal T1 as shown in figure below on right.

NOTE: Ensure the door is in the full open position before connecting the black wire. If door is not in full open position and monitored
photo-eyes or safety edge are not connected and operational then door will immediately move in the open direction.

A%
Sl
i —— INTERFACE

L / MODULE
[ OPEN )
Lo o te —
| cLose | % % %
514 AEI e
| STOP | /‘ T /‘ u
ooy -

17



6) Connect Safety Devices

Failsafe Feature: A monitored failsafe safety feature is built into the operator. The operator has provisions to connect one primary
monitored safety device as well as one or more non-monitored safety device(s).

Primary monitored safety device:

Nice monitored failsafe photo beams or Nice compatible monitored failsafe devices must be connected to terminals P1 and P2 if
momentary close on pushbutton is required (B2 mode). If not connected, door can only be closed by constant pressure on close
pushbutton. If constant pressure on close pushbutton is removed before door reaches full closed position, then door reverses to full
open.

NOTE: Only one monitored failsafe safety device can be connected across terminals P1 and P2.
NOTE: See section E for complete installation instructions for the Nice N-1 or the Fraba photocells.

RESISTOR 10K OHM RESISTOR 10K OHM

HEEEEER EREEREER

I 1 1 1 | T T
WHITE @ WH|TEi‘oRAY
NICE COMPATIBLE
WHAITE Rx) WHITE/GRAY MONITORED REVERSING DEVICE

Secondary Non-Monitored Safety Device(s):

IMPORTANT:
NICE MONITORED
SAFETY DEVICES
MUST BE CONNECTED
IF MOMENTARY
ACTIVATION ON
CLOSE IS REQUIRED.

A standard 2-wire safety edge, non-monitored reflective or thru-beam photo eye or any other non-monitored reversing devices with
a N.O dry contact can be connected to terminals S1 and S2.

NOTE: More than one secondary non-monitored safety device can be connected to terminals S1 and S2.
IMPORTANT: Do not remove resistor that is factory installed across terminals S1 and S2 unless installing a 4-wire electric edge.
4-Wire Electric Edge Connection

A standard 4-wire electric edge can be connected across S1 and S2 terminals as a secondary safety device. Remove the factory
installed resistor across terminals S1 and S2, and install resistor across the black and white pair of wires from the electric edge and
connect the remaining black and white wire to the S1 and S2 terminals.

RESISTOR 10K OHM

YN0 ) DD D
Al ma 2114914
D\ DD ) D\ DD

O
REVERSING DEVICE
(N.O. CONTACT)

4—WIRE EDGE

RESISTOR 10K OHM

7) Select Mode of Operation
C2 mode of operation (momentary on open, constant pressure on close):

The operator is wired at the factory for momentary on open and constant pressure on close. For commercial operators, white wire
is connected to terminal T6.

B2 mode of operation (momentary on open, momentary on close):
If momentary on close is required: For commercial operators, remove the white wire from terminal T6 and place it on terminal T3.

The operator functions in B2 mode only when the primary monitored safety device is connected and functioning properly. If it is not
connected, operator will go into fault mode and door can only be closed by constant pressure on close and if constant pressure on
close is removed before door reaches full close position, door reverses to full open.

18



SECTION C: PRO-SD(E), PRO-GSD(E): Full Feature Logic Board Smart 10.0
[UL325 (2010) Compliant]

NOTE: The operator is shipped from the factory in the D1 mode setting (constant pressure open and close). The operator should
remain in this mode until all connections and limit switch adjustments are completed.
Power Wiring Instructions

Connect primary power supply directly to the separate power terminal strip supplied using any of the 1-1/8” (2.85 c¢cm) diameter
holes provided on control box. Do not connect power supply directly to the circuit board.

Single Phase: Connect single-phase power supply to terminals L/L1 and N/L2 on 1—PHASE 3—PHASE
three-pole power terminal strip (110V or 220V 1-phase). RNI®
Three-Phase: Connect three-phase power supply to terminals L1, L2 and L3 on O |runral 11O
three-pole power terminal strip (208V, 230V, 380V, 460V or 575V). ®
L/L1 N/L2

On Board 0/C/S PBS Instructions

On-board Open, Close and Stop buttons are provided directly on the board for installation and troubleshooting purposes. In order to
operate unit by on-board Open, Close, Stop buttons, the factory installed jumper (#1) between the COM and STOP terminals on the
terminal strip must remain connected. | | |

—INT.LucK-—@ @ @
(: @ Réﬁh OPEN
S~———— —smP-—@ @ CLOsE

€]

LEARN  STOP

OPEN

Motor Direction Verification
Make sure the mode of operation is selected to D1.

After electrical power connections are made, manually move door to mid-position. Using the on-board buttons press the “Open”
button for several seconds and then press the “Stop” button. If door did not move in correct direction (or if limit cams not moving in
correct direction towards the open limit switch) see below:

For Single-Phase Operators: The operators leave the factory with correct motor and limit shaft direction according to standard
door installations. However, for special fire door, through wall mounting or other special door applications, the motor direction

and limit switch direction may need to be reversed. A dipswitch (Dip #1) is provided to reverse direction of motor and limit switch
direction. If motor direction is reversed, the open and close limit switches are automatically reversed. However, the advanced close
limit switch needs to be manually changed. Disconnect the 2 wires from the advanced closed limit switch and re-connect to the
auxiliary limit switch provided.

NOTE: Ensure that when the on-board open button is depressed and the door moves in the correct open direction that activation of
the open limit switch illuminates the “OPEN LIMIT” LED and stops the door.

"

COM

———————— ——BLUE

o) N N ravavess O
SEQ/COM ‘"wuym“""oﬁc._____%_ mackNe| o e
MID-STOP TIMER S

DELAY ON REVERSE
MOTOR DIRECTION 1

ON OFF V\ wen OPEveLov— H-oraNGEMESO cinse

O st N.O. ND. S O

REY— RE!

COM COM

nNw-H

Tl

He
LIMIT
SWITCH

19



For 3-Phase Operators: If door moves in wrong direction, turn off incoming power and reverse any two of the three incoming
power supply leads to correct rotation. Press the on board open button again. If door is going in the correct open direction, activate
the open limit switch to ensure door stops. If door does not stop, turn off incoming power and interchange any two incoming power
lines once again and slide dipswitch #1 to reverse motor direction. If motor direction is reversed, the open and close limit switches
are automatically reversed. However, the advanced close limit switch needs to be manually changed. To do this, disconnect the 2
wires from the advanced limit switch and re-connect to the auxiliary limit switch provided.

NOTE: Ensure that when the on-board open button is depressed and the door moves in the correct open direction that activation of
the open limit switch illuminates the “OPEN LIMIT” LED and stops the door.

3-PHASE eM X, e con
o) N.O. NI avancen &5
R|P||® SEQ/COM| M |4 S e X | N.C.
ollallz|lzllo MID-STOP TIMER|—M|3 =] e
DELAY ON REVERSE|mI|2
MOTOR DIRECTION|CM|1 wive =
ON OFF ‘\ wen  OPYE veriov— - ORaNGENME(O cuose
O st NO. ND. S O
COM REY— RED ToM
‘
00000
H2
SVITCH
Limit Switch Adjustments

Once the motor rotation and limit cam direction have been verified, adjust the limit cam settings. Please note that when each limit
switch is activated the corresponding LED will light up. Refer to operator installation manual for complete limit switch adjustment
instructions.

Connection of External 0/C/S PBS
Connect 0/G/S PBS as shown in diagram.
NOTE: Jumper #1 must be removed after the external 0/C/S PBS has been installed.

C—INT.LDCK-
COM-
(
\
— —— —STOP+
OPEN

Failsafe Feature

‘ | ‘ NOTE: JUMPER MUST REMAIN
SINGLE PUSH-BUTTON STATION

INT.LOCK+

COMY
COM—

STOP

SlElElS

LEARN OPEN

o|@|ele©

CLOSEA

A safety device failsafe feature is built into the logic board. The logic board has provisions to connect one primary monitored safety
device as well as 1 or more secondary non-monitored safety device(s).

Primary monitored safety device

Nice monitored failsafe photo beams or Nice compatible monitored failsafe devices must be connected to terminals P1 and P2 as
primary monitored safety device. Primary monitored safety device must be connected if momentary activation on close is required
in B2, T and TS modes. If it is not connected in B2, T and TS modes, door can only be closed by constant pressure on close and if

constant pressure is removed before door reaches full close position, door reverses to full open.

NOTE: Only one monitored failsafe device can be connected to terminals P1 and P2.

NICE FAIL-SAFE PHOTO BEAM

WHITE 4
P2 >@ —Pa——@
VHITE—' NICE COMPATIBLE
WHITE/GREY MONITORED REVERSING DEVICE
>® —®

WHITE/GREY

IMPORTANT!
NICE MONITORED
SAFETY DEVICES
MUST BE CONNECTED
IF MOMENTARY
ACTIVATION ON
CLOSE IS REQUIRED.

20



Secondary Non-Monitored Safety Device(s):

A standard 2-wire safety edge, non-monitored photo beams or any other non-monitored reversing devices with a N.O contact can
be connected to terminals S1 and S2 as secondary non-monitored safety device.

NOTE: More than one secondary non-monitored safety device can be connected to terminals S1 and S2.

IMPORTANT: Do not remove the resistor that is factory installed across terminals S1 and S2 unless installing a 4-wire electric edge.
4-wire electric edge:

A standard 4-wire electric edge can be connected across S1 and S2 terminals as a secondary safety device.

Remove the factory-installed resistor across terminals S1 and S2 when using a 4-wire electric edge.

REVERSING & Se
DEVICE
(NO. CONTACT) 8

@
10K 10K 4-WIRE
% 0OHM 0OHM EDGE
L E e

Connection of External Single-Button Device
Connect an external single-button as shown in diagram. Please refer to “Modes of Operation” for the functionality of single-button.

@)@

SINGLE INT.LOCKA
PUSH-BUTTON

o—

COM—

STOP+

OPEN

CLOSE+

o|le|el 0 @@

——SINGLE-

Modes of Operation

All operators leave the factory in the D1 mode setting; please read all modes of operation and determine which operational mode
is desired.

B2 (Momentary on open and close):

e Open Button: Momentary activation opens the door. When door is closing, momentary activation reverses the door (OPEN
OVERRIDE). Momentary contact from mid-stop opens the door to full open position. Constant activation when door is
opening, bypass mid-stop if enabled.

¢ (Close Button: Momentary on close.
e Stop Button: Momentary activation stops the door.
¢ Single Button Device and Single Channel Transmitter, 3-Channel (1,2,3) Transmitter:

» SEQUENTIAL FUNCTION: Open/Stop/Close/Reverse. cz_ D
» COMMERCIAL FUNCTION: Open/Close/Reverse. B2 -
e 3-Button 0/C/S Radio Transmitter: Same as open, close and stop buttons. RUN
e Safety Devices: When door is closing, momentary activation reverses the door. J gEEE N T
¢ Timer to Close: N/A
MID. STOP TS

21



G2 (Momentary open, constant pressure close):

cg D

Open Button: Momentary activation opens the door. When door is closing, momentary activation Bo £2

reverses the door (OPEN OVERRIDE). Momentary contact from mid-stop opens the door to full

open position. Constant activation when door is opening, bypass mid-stop if enabled. nﬁg{;‘ T
Close Button: Constant pressure on close. Door will stop when button is released VALUE

Stop Button: Momentary activation stops the door. MID. STOP o8
Single Button device:

» SEQUENTIAL FUNCTION: Open/Stop/Constant pressure on close/stop.
» GOMMERGIAL FUNGTION: Open/Constant pressure on close/stop.

Single channel transmitter, 3-channel (1,2,3) transmitter and 3-button 0/C/S radio transmitter. Momentary activation opens
the door. Momentary contact of OPEN button on 3-button (0/C/S) radio transmitter from mid-stop opens the door to full open
position. Cannot close the door.

Safety Devices: When door is closing, momentary activation reverses the door.

¢ Timer to Close: N/A c2 71
D1 (Constant pressure on open and close): Be E2

e Open Button: Constant pressure opens the door. Door stops when constant pressure is RUN @
released. Constant pressure from mid-stop opens the door to full open position. TIMER T

¢ (lose Button: Constant pressure on close. Door will stop when button is released VALUE

¢ Single Button device, single channel transmitter, 3-channel (1,2,3) transmitter and MID. STOP TS
3-button (0/C/S) radio transmitter: N/A

o Safety Devices: When door is closing, momentary activation reverses the door.

e Timer to Close: N/A

E2: (Momentary on open, constant pressure on close with roll-back feature)

e Open Button: Momentary activation opens the door. When door is closing, momentary te .1
activation reverses the door. Momentary contact from mid-stop opens the door to full open Be e
position. Constant activation when door is opening, bypass mid-stop if enabled. Tlﬁgg W 1

¢ Close Button: Constant pressure on close. Door reverses to full open when button is released.  vaALUE

¢ Single Button:

» SEQUENTIAL FUNCTION: Open/Stop/Constant pressure on close/stop. MID. STOP TS

» GOMMERCIAL FUNCTION: Open/Constant pressure on close/reverse.

Single channel device, 3-channel (1,2,3) transmitter and 3-button (0/G/S) radio transmitter: Momentary activation
opens the door. Momentary contact of OPEN button on 3-button (open/close/stop) radio transmitter from mid-stop opens the
door to full open position. Cannot close the door.

Safety Devices: When door is closing, momentary activation reverses the door.
Timer to Close: N/A

T: (Momentary on open and close, timer to close, SAFETY ACTIVATION & STOP BUTTON DISABLE TIMER)

e Open Button: Momentary activation opens the door. When door is closing, momentary activation reverses the door.
Momentary contact from mid-stop opens the door to full open position. Momentary contact at full-open refreshes the timer
if enabled at full open. Momentary contact at full open position re-activates the timer if timer is disabled previously by stop
button or safety device. Constant activation when door is opening, bypass mid-stop if enabled.

Close Button: Momentary on close. ce D
Single Button: If door is opening or closing, momentary activation stops the door. Momentary B2 Ee
activation while timer is counting at mid-stop or full open deactivates the timer. RUN
. N . . ™R | [((=>] |1
Single button device, single channel and 3-channel (1,2,3) radio transmitter: VALUE
» SEQUENTIAL FUNCTION: Open/Stop/Close/Reverse.
. . i MID. STOP TS
COMMERCIAL FUNCTION: Open/Reverse/Refresh timer.

3-button (0/C/S) Transmitter: Same as open, close, stop buttons.
Safety Devices: When door is closing, momentary activation reverses the door to full open AND DISABLES TIMER.

22



¢ Timer to Close: Closes the door from mid-stop or full open. Momentary activation of stop button will deactivate the timer.
When door is closing, momentary activation of safety devices will reverse the door to mid-stop (if enabled) or full open and
deactivates the timer. Timer resumes its normal operation upon momentary activation of open push button or once the close
cycle is completed. If mid-stop is enabled and “Timer from mid-stop only” dip-switch is ON, timer is enabled only from mid-
stop and disabled from full open. If mid-stop is enabled and “Timer from mid-stop only” dip-switch is OFF, timer is enabled
from full open and mid-stop.

TS: (Momentary on open and close, timer to close secure, STOP BUTTON DISABLES TIMER)

e Open Button: Momentary activation opens the door. When door is closing, momentary activation reverses the door.
Momentary contact from mid-stop opens the door to full open position. Momentary contact at full-open refreshes the timer if
enabled at full open. Momentary contact at full open position re-activates the timer if timer has been disabled previously by
stop button. Constant activation when door is opening, bypass mid-stop if enabled.

¢ Close Button: Momentary on close. Cz_ D

e Stop Button: If door is opening or closing, momentary activation stops the door. Momentary HE Ee
activation while timer is counting at mid-stop or full open deactivates the timer. Tlﬁgg & .

e Single button device, single channel transmitter and 3-channel (1,2,3) radio transmitter: VALUE

» SEQUENTIAL FUNCTION: Open/Stop/Close/Reverse. —
» GOMMERCIAL FUNCTION: Open/Reverse/Refresh timer. ' =
e 3-button 0/C/S radio transmitter: Same as open, close, stop buttons.

e Safety Devices: When door is closing, momentary activation reverses the door.
Momentary activation refreshes the timer to close.

¢ Timer to Close: Closes the door from mid-stop or full open. Momentary activation
of stop button will deactivate the timer. Timer resumes its normal operation upon

L1/L L2/N %

(o5 ]
[om ]
[ ]

e ]

momentary activation of open push button or once the close cycle is completed.
If mid-stop is enabled and “Timer from mid-stop only” dip-switch is ON, timer is /1—‘
enabled only from mid-stop and disabled from full open. If mid-stop is enabled and JUMPER 2
“Timer from mid-stop only” dip-switch is OFF, timer is enabled from full open and
mid-stop.
WARNING: When replacing the logic board in a single-phase operator. Make sure that Jumper 2 is installed properly before
operating the door. Failure to do this will damage the logic board.

Programming Instructions

NOTE: ALL PROGRAM FUNCTIONS CAN BE INITIATED BY TURNING SELECTOR SWITCH TO THE DESIRED SETTING AT ANY POINT
DURING OPERATION EXCEPT FOR THE MID STOP and RUN TIMER MODE. PROGRAMMING MUST START FROM THE FULL CLOSED
POSITION.

Run-Timer Setup

Run-timer is the maximum amount of time the motor will run upon receiving an open or close command. The factory default value
for run-timer is 45 seconds.

NOTE: Limits must be set prior to setting run-timer.
Modify the run-timer from factory default:
1. Close the door to full close position. c2 m

2. Set the selector dial to “Run-timer” position. The “Delay On Close Timer”. LED should blink. B2 E2

3. Press open button. Wait until door reaches full open position. The run timer value is set to the RUN
time taken for the door to travel from full close position to full open position plus 5 seconds. ~ TIMER @ T

4. Set the selector dial to the desired mode of operation. VALLE
Modify the run-timer to factory default: MID. STOP TS

1. Close the door to full close position.

2. Set the selector dial to “Run-timer” position.

3. Press Stop Button. The run-timer is modified to the factory default value. Then set the selector dial to the desired mode of

operation.
23



Mid-Stop Setup -
Mid-Stop feature can be used to open the door to a preset point prior to full open position. B2 E2

NOTE: Limits must be set prior to setting mid-stop position. nﬁgg @ .
To Activate Mid-Stop: VALUE

1. Close the door to full close position. MID. STOP Ts
2. Set the selector dial to “Mid-Stop” position. “Mid-Stop” LED starts blinking.

3. Press open push button. Door opens. Once the door reaches the desired mid-stop position,
stop the door by activating stop push button.

4. Set the selector dial to the desired mode of operation.
NOTE: When door opens to the programmed mid-stop position, “Mid-Stop” LED will illuminate.
To De-activate the Mid-Stop position:

1. Close the door to full close position.

2. Set the selector dial to “Mid-Stop” position.

3. Press the stop button, Mid-Stop is deactivated.
Modify mid-stop position:

To modify the current mid-stop position, follow the same steps to activate mid-stop. The new mid-stop position will override the old
mid-stop position.

Timer to Close Setup S0SEL: @ 120SEL.
Timer to close is enabled only in TS and T modes of operation. To adjust the timer value turn POT1 3SEC. 300SEC.
clockwise to the desired value. The minimum value for timer to close is 3 seconds and the maximum (o]
value is 300 seconds.

Delay on Close Setup (only for use with optional apartment board)

Delay on close timer can be used to delay the closing of the door in B2 and TS modes of operation. This SSEC, 30SEC,
timer is deactivated in C2, D1, E2 and T modes of operation. Delay on close timer is OFF when the “Delay | 1sec. @

on close” dial is set to OFF position. To adjust this timer, rotate the dial clockwise to the desired value. oFF 60SEC.
The minimum value for delay on close timer is 1 second and the maximum value is 60 seconds. It is [PaTa]
recommended to use this feature in apartment applications where RED and GREEN traffic lights are used.

NOTE: In TS mode, the “Delay on close” timer starts only once the “Timer to close” has finished counting. Unless a delay on close

is required this dial should be rotated to the OFF position. If left in any other position but OFF, activation of close button will delay to
POT2 amount of time.

On-Board Receiver Programming
This logic board has a built-in 372 MHz radio receiver and can only be used with Nice single

button, 3-button (OPEN/CLOSE/STOP) and 3-channel radio transmitters. AN
Uyl
Installing the Antenna ANTENNA
Direct Connection:

Attach the antenna when supplied with the operator to the F connector on the control box. For
best reception, keep antenna wire straight and away from metal objects.

Indirect connection (Mounting the antenna at a remote location):
1. Connect coax extension cable (optional) to the F connector on the control box.
Route cable inside metal enclosure.
Route and secure cable away from moving parts.
Mount antenna holder (not provided) outside enclosure.
Attach antenna to extension wire.
Position antenna wire straight. For best reception, keep antenna away from metal.
NOTE Do not route coax cable near any moving parts of the operator. If necessary, secure coax wire away from any moving part
24

ok w



Programming the On-Board Radio Receiver
WARNING: During programming, door operator will activate. Keep people and objects away from door.

1. Connect power to door operator.
2. Press and release the learn button once. The receiver’s LED will turn on.

3. To program a single button transmitter, press the button on the transmitter. The receiver’s LED will blink twice indicating a
successful programming.

4. Press the button on the transmitter once more to confirm operation of the door operator.

5. To program a 3-channel (1,2,3) transmitter, press any of the 3 buttons on
the transmitter. The receiver’s LED will blink twice indicating a successful | |

programming. Press the same button on the transmitter to confirm operation of

the door operator. This button is now associated with that particular receiver. You ) %

can repeat the programming process for the other two buttons to control two con-—@ X1 %’l‘

other receivers. sP+—@) CLESE
6. To program a 3-button (0/C/S) transmitter, press OPEN button on the transmitter. won | @ = l%!

The receiver’s LED will blink twice indicating a successful programming. Press \

the OPEN button on the transmitter to confirm operation of the door operator. The
OPEN, CLOSE and STOP buttons on the transmitter can be used to open, close or
stop the operator respectively.

7. Test range of transmitter. Repositioning antenna may provide greater range.
8. Repeat transmitter-programming steps for additional transmitters.

Operation

1. Press and release the button on Nice transmitter.
2. Receiver LED will light momentarily and door will cycle.

To Erase all Learned Transmitters
1. Press and hold down the LEARN button.
2. After 5 seconds, the LED will blink for 5 seconds.
3. Release the LEARN button during the time LED is blinking.
4. After you released the button, the LED will blink 5 times indicating all transmitters are erased from the receiver’'s memory.
NOTE: A maximum of 20 transmitters can be programmed for the same receiver. If more than 20 are required, consult factor.

Replacing Remote Control Batteries

The batteries (lithium, 3V) should produce power for up to 5 years. To replace the battery, open the transmitter by removing
the screws on the back of the transmitter. Match the positive and negative terminals of the battery to the positive and negative
terminals of the transmitter.

NOTE: The receiver and transmitter comply with part 15 of the FCC rules with RSS-210 of industry Canada. Operation is subject to
the following two conditions: (1) this device may not cause harmful interference, and (2) this device must accept any interference
received, including interference that may cause undesired operation.

NOTE: If an external radio-receiver (Nice or other) is used instead of the built-in radio receiver, it is highly recommended to
disconnect the co-axial cable from the logic board.

NOTE: When using any external receiver, the Nice on-board receiver should not be used.

25



Dip-Switch Setup

SEQ/COM Single button and radio in SEQ mode Single button and radio in COM mode

Timer is enabled from both mid-stop and T or TS mode can be selected to enable
full open a timer for mid-stop

Nice recommends 1.5 second delay on
reverse for all applications

See NOTE ** below

Mid-stop Timer ~ Timer is enabled from mid-stop only

Delay on reverse | Delay on reverse is 1.5 seconds Delay on reverse is 0.5 seconds

Motor direction Reverse motor direction Standard motor direction

NOTE: If motor direction is reversed, the open and close limit switches are automatically reversed. However, the advanced close
limit switch needs to be manually changed. To do this, disconnect the 2 wires from the advanced closed limit switch and re-connect

to the auxiliary limit switch provided.

Status LED
» Primary safety devices not connected to P1
& P2 or not functioning properly
Fault ON » Safety devices are activated -
» 10k Ohm resistor (between S1 & S2) FAULT ||
removed or faulty F: _
o » Interlock is activated. RUN-OUTTIMER | }
Fault Blinking , ) - —
» Interlock jumper is not connected DELAY ON CLOSE TIMER r— f}
Run-out-timer ON Run-out timer has elapsed L —
» Delay on close timer is countin r
Delay on close timer Blinking y o ) 9 TIMERTO CLOSE L 7}
» Selector dial is set to Run-timer -
Timer to close Blinking Timer to close is counting. SAFETY/PHOTO [7 7}
» Primary safety devices not connected to P1 — —
& P2 or not functioning properly MID.STOP | 7}
Safety/Photo ON » Safety devices are activated CLOSE LIMIT r— *J
» 10k Ohm resistor (between S1 & S2) - —
| removed (?r faulty . OPEN LIMIT [ }
Mid. Stop ON Door is at Mid-stop position. - —
Close Limit ON Close limit switch is activated. STOP PB. [ J
Open Limit ON Open limit switch is switched F: _
on » Stop button connected and functioning CLOSERELAY | 7}
Stop PB OFF » Stop push button is activated (or the stop — —
circuit is open). OPEN RELAY L_ 7J
» Door is closin -
Close Relay Blinking ,g, POWER | |
» Close relay is activated - —
o » Door is opening.
Open Relay Blinking o
» Open relay is activated.
Power ON 24 VAC power to logic board is ON.

26



SECTION D: For all Operator Control Types

Limit Switch Adjustment

Adjustment of door travel is done by moving the limit cams on the threaded shaft. The position of the 4 limit switches are factory
adjusted and should not be altered. The limit switches are:

e “Open” limit switch: End of door travel in the fully open position
e “Closed” limit switch: End of door travel in the fully closed position
e “Advanced Open” or “Auxiliary advanced closed” limit switch:
A) For relay logic operators this advanced open limit switch is used for open/close devices or timer to close features.
B) For logic board this auxiliary closed limit switch is used for open/close devices used when motor direction is reverse of
standard.
e “Advanced Closed” Limit switch: Used to prevent reversing device from reversing door when door is almost fully closed.

A WARNING A

TO REDUCE THE RISK OF INJURY OR DEATH: DO NOT ATTEMPT TO MAKE LIMIT SWITCH
ADJUSTMENTS UNLESS POWER HAS BEEN ELECTRICALLY DISCONNECTED.

To adjust door travel:

1. Open cycle: Depress cam plate and spin “Open” limit cam away from “Open” limit switch to increase door travel or spin
“Open” limit cam towards the “Open” limit switch to decrease door travel. After each adjustment ensure that cam plate fully
engages in slots of both limit nuts.

2. Adjust “Open” limit cam so that door stops at the desired fully open position.

3. Close cycle: Depress cam plate and spin “Close” limit cam away from “Close” limit switch to increase door travel or spin
“Close” limit cam towards the “Close” limit switch to decrease door travel. After each adjustment ensure that cam plate fully
engages in slots of both limit nuts.

4. Adjust “Close” limit cam so that door stops at the desired fully closed position.

CLOSE LIMIT CAM OPEN LIMIT CAM

CLOSE LIMIT SWITCH \ f P OPEN LIMIT SWITCH
| W\
CAM PLATE ‘N \ \ / /
1 / @
=

\ |

©

N DS :
qaﬁ iITI:=]
/r; ) =
S _—] ADVANCED OPEN LIMIT SWITCH
Y (FOR RELAY Log;ch OPERATORS)

AUXILIARY ADVANCED CLOSED LIMIT SWITCH
(FOR LOGIC BOARD OPERATORS)
USED WHEN MOTOR DIRECTION
IS REVERSE OF STANDARD

ADVANCED CLOSE LIMIT SWITCH /

27



SECTION E: For Operators with Interface Modules or Logic boards

Installation of Nice N-1 or N-4 Photocells

Installation Safety Precautions

A WARNING A

Nice MK00649 NEMA-1 and FRABA MK00697 NEMA 4/4X infrared photo systems are for use only with Nice logic board operators or
relay logic operators equipped with the Nice failsafe interface module. Use of this device on other than recommended operators can
lead to severe or fatal injury. Follow these instructions carefully.

IMPORTANT

For momentary activation on close, the Nice photobeams (or a Nice 2-wire monitored edge), must be installed as part of the operator
system. If a Nice 2-wire monitored edge or the Nice infrared photobeam system is not installed (or not operating correctly), the
operator will only operate in fault mode “constant pressure to close”.

READ and FOLLOW all installation instructions.
1. Before installing the photo beam, read the door or gate operator’s instruction manual fully, so you are aware of all of the
unit’s functions and features.
2.  Wear protective gloves and eye protection when using tools.

3. Before installing photo beam, disconnect all power to door operator to prevent unintended operation and have the door full
open or close.

4. Do not reconnect power to the door or gate operator until instructed to do so.
5. Only install photobeams on a properly functioning door or gate operator.

6. Installation and wiring must comply with local building and electrical codes. This device is not intended and must not be
installed in an explosive environment.

A WARNING A

Keep fingers and other body parts away from all moving parts of the door and gate operator system while the system is being
operated.

A WARNING A

To prevent unintended operation, disconnect power to the door or gate operator prior to installing the photobeam system.

NICE N-1 Photocell (MK00649)

NOTE: The MK00649 photocell system has a maximum range of 24 ft. Sun visor protector optional.

Installation

NOTE: Photo beams should be mounted as close to the door track inside the door to offer maximum entrapment protection.

Wall installations

1. Select a location on the wall no more than 6 inches from the floor to install wall mounting brackets on the left and right side
of the door. Both brackets must be mounted at the same height for proper alignment.

2. Drill holes in the wall and attach brackets to the wall using screws and nails provided as shown in Figure 1.

FIGURE 1

MOUNTING

BRACKET ' | AL )
(\,.\-::5‘

28



3. Using the wing nuts, attach the receiver and transmitter of the photo system
to the mounting brackets (with arrow pointing up). Note that the receiver
and transmitter can be installed on the left side or right side of the door.

4. Adjust the position of the transmitter and receiver on the slot of the
brackets. Secure the receiver and transmitter to the mounting brackets as
shown in figure 2.

WING NUT LED LN

5. Pair the two white wires and the two white/gray wires together from transmitter and receiver.
6. Connect these paired wires to the P1 and P2 terminals on the logic board (or interface module if applicable) as shown in

Figure 3.
OPERATOR LOGIC BOARD FIGURE 3
r——————— al
j INTLOCK [ @) }
[ ) | w
o o J str| @ } S w
3 3 | peN | @ | b
” o | cose| @ | v o
o % E - ]‘ sinaLe| @ } o % é =
g 2 = g 2
> >-.- T i >© ‘ >-'_
& g B ECH 5 &
E E | st @ | S E
S z ]‘ 24 vac| @ } E 3
| e4vac| @ |

L = .}

NICE N-4 Photocell (MK00650)

NOTE: The MK00650 photocell system has a maximum range of 24 ft. Sun Visor protector optional.

Installation

NOTE: Photo beams should be mounted as close to the door track inside the door to offer maximum entrapment protection.

Wall installation

1. Select a location on the wall no more than 6 inches from the floor to install wall mounting brackets on the left and right side
of the door. Both brackets must be mounted at the same height for proper alignment.

2. Drill holes in the wall and attach brackets to the wall using screws and nails provided as shown in Figure 1, page 24.

FIGURE 1

MOUNTING

BRACKET ' | AT \

29

PSS

s2

st

OPERATOR RELAY LOGIC CONTROLS
WITH INTERFACE MODULE




3. Using the 8 Phillips head screws, attach the receiver and the transmitter to the two mounting plates (Figure 2A).

4. Using the wing nuts, attach the receiver and the transmitter of the photo system to the mounting L-brackets (with arrow
pointing up) as shown in Figure 2B. Note that the receiver and transmitter can be installed on the left or right side of the
door. For applications requiring the photobeams to be further away from the wall, use the extension brackets provided as
shown in Figure 2C.

FIGURE 2A FIGURE 2B FIGURE 2C
<N B8

CARRIAGE
BOLT

L_MOUNTING
PLATE
PHILLIPS,
SCREW

5. Adjust the position of the transmitter and receiver on the slot of the brackets and tightly secure the wing nuts

6. Loosen the 4 fastening screws and remove the cover from the photobeam transmitter and receiver housings and insert
electrical wire through the strain relief (Figure 3A). Pair the two white/gray wires together from transmitter and receiver.

7. Connect these paired wires to the P1 and P2 terminals on the logic board (or interface module if applicable) as shown in
Figure 3B. Use minimum 18 gauge wires and secure the wires to wall or ceiling.

FIGURE 3A FIGURE 3B
; OPERATOR RELAY LOGIC CONTROLS
3 OPERATOR LOGIC BOARD WITH INTERFACE MODULE

RECEIVER

RECEIVER

WHITE/GRAY
WHITE/GRAY
WHITE/GRAY
WHITE/GRAY

STRAIN D
WHITE/GRAY RELIEF )

[elielielifie]]eelefefefe]

I
I
|
I
|
|
I
I
|
|
I
I
|
Il P2
|
|
I
I
I
I
|
|
I
]
|
i

For Nice Nema-1 photobeams
Aligning the photo beams:
1. Turn the power on to the operator. If the transmitter and receiver are installed properly, the lights on both the transmitter (red
LED) and receiver (green LED) will be ON.

2. If the photo beams are not aligned properly, the receiver light (green) is OFF. Adjust the position of the transmitter and/or the
receiver on the slot of the mounting bracket until the light on the receiver is ON and then secure to the bracket.

Photo system operation:
Nice photo beams must be connected for the door to close in momentary mode (unless a Nice monitored 2-wire edge is

connected). When the photo system is properly installed and aligned, the infrared beam will detect any obstruction in the path of the
beam. Upon detecting an obstruction, closing door will stop and reverse to full open.

The Nice operator control circuit continuously monitors the correct operation of the photo system. If the photo beams are not
connected or not functioning properly, the operator will go into fail-safe mode and closing door will reverse to full open. In fail-safe
mode door can only be closed by constant pressure on close.

To test the photo system:

1. Open the door to full open position.
2. Close the door.
3. When door is closing, obstruct the beam. The door should stop and reverse.

30



FRABA N-4/4 Thru-Beam Photocell (MK00697)
NOTE: The MK00687 photocell system has a maximum range of 45 ft. Sun Visor protector optional.

1. Select a location on the wall no more than 6 inches from the floor to install wall mounting brackets on the left and right side
of the door. Both brackets must be mounted at the same height for proper alignment.

2. Drill holes in the wall and attach brackets to the wall using screws provided as shown in Figure 1.

FIGURE 4

A

3. Plug sensors into flexible adapters as shown in Figure 4. Please note that the 2 brackets are not identical. The receiver (Rx)
must be installed into the receiver adapter and the transmitter (Tx) must be installed into the transmitter adapter (Figure 5).

ATTENTION!

FIGURE 5 Coded

Sensors

4. Pair the two black and the two black with white tracer wires together from transmitter and receiver. Connect these paired wires
to the P1 and P2 terminals on the logic board (or interface module if applicable) as shown in Figure 7. Use minimum 18 gauge

wires and secure the wires to wall or ceiling.
OPERATOR RELAY LOGIC CONTROLS
OPERATOR LOGIC BOARD WITH INTERFACE MODULE

*************

1

[7)
[s]
Q

%
gl

D
FIEEE

FIGURE 7

,,,,,,,,,,,,,

(&3]
=
=
>
—
=
[3%)
=}
o
=
D
-
o
>
—
o
—
=
[3°)
o
=}
D
=
[
-
o
=
=
(=}
>
—
=
[
>
%]
3
=
D
-
V)
>
o
—
D
o
@,
<
D
=
o
<
QO
=7
[
%]
(=
>
«
V)
=
=1
[39)
V)
=]
o
=
D@,
«Q
=2
=
o
—
—
=
(3]
=h
'>_<._
=
=
[92)
—_
I
«Q
[
=
[92)
(o]
>
V)
>
o
(o]
ke

‘ Angle Adjustment FIGURE 8B

FIGURE 8A Height Adjustment
(Loosen wing nut first)
\©
6. Utilize LEDs on photocells for alignment and trouble shooting. Make sure to tighten screws and wing nuts after photocells are
aligned.

e Red LED (ON), Green LED (ON): Normal operation

e Red LED (ON), Green LED (OFF): No power. Verify wiring

e Red LED (Blinking twice), Green LED (ON): Bad Alignment, or Obstructed Beam, or Rx defective
e Red LED (Blinking twice), Green LED (OFF): Check power and wiring to Rx, or Rx defective

¢ Red LED (Blinking three times), Green LED (ON): Rx receiving sunlight (or interference). Install visor or interchange position
of transmitter and receiver to reduce sunlight affecting receiver.

To test the photo system: Open the door to full open position. Close the door. When door is closing, obstruct the beam. The door
should stop and reverse.

31



Clutch Adjustment

PRO-SD

1. Remove cotter pin tapped to pulley.
2. Rotate clutch nut counterclockwise (loosen) until there is insufficient tension to permit clutch to drive door.

3. Gradually tighten clutch nut until the tension on belleville washers is sufficient to permit clutch to drive door smoothly but will
allow clutch to slip if door is obstructed. It should be possible to stop moving door by hand if clutch is properly adjusted.

4. Lock clutch nut in place by inserting cotter pin into one of the two adjustment holes provided.

CLUTCH PAD\ COTTER PIN
CLUTCH PLATE\;]D r

CLUTCH NUT

BELLEVILLE WASHERS

CLUTCH PULLEY— |

PRO-GSD

1. Loosen bolts on clutch cover and slide cover towards motor to access clutch.
2. Loosen the two set screws on clutch adjustment nut.
3. Rotate clutch nut counterclockwise (loosen) until there is insufficient tension to permit clutch to drive door.
NOTE: When adjusting nut, make sure to secure input shaft to not allow shaft to rotate when tightening or loosening nut.
4. Gradually tighten clutch nut (adjust %4 turn at a time) until the tension is sufficient to permit clutch to drive door smoothly but
will allow clutch to slip if door is obstructed. It should be possible to stop moving door by hand if clutch is properly adjusted.

5. Tighten the 2 set screws after each time the unit is tested for clutch adjustment. After adjustment is completed make sure
set screws are locked in place. Re-install clutch cover.

&

IN-LINE C

CLUTCH >/—n‘-\LLEN KEY

ADJUSTMENT
CLUTCH NUT

32



Brake Adjustment

e The brake adjustment is factory set and should only require minor adjustment after extensive use.

e Verify brake adjustment by manually holding in solenoid plunger. When brake is properly adjusted, the brake shoe pads should
make complete contact with brake drum with sufficient brake spring tension to stop and maintain door when solenoid is
de-energized. When solenoid is energized, brake shoes should release from drum with sufficient clearance to avoid contact
between shoes and drum.

e To adjust brake tension, tighten (to increase) or loosen (to decrease) nylon lock nut on brake spring bolt. Observe solenoid during
electrical testing of brake. Brake spring tension must be adjusted so that solenoid should pull and release smoothly and quietly.
Too much or too little tension on brake spring may cause solenoid to burn out.

¢ To adjust individual brake shoes, loosen nut on brake shoe adjustment bolt and adjust bolt. When properly adjusted, there should
be a small clearance between adjustment bolt and solenoid bracket when solenoid is de-energized. When solenoid is energized,
brake shoes should move away from drum with sufficient clearance to avoid friction between brake shoe pad and drum. After
adjustments are made be sure to tighten nuts on brake shoe adjustment bolts.

PRO-SD
BRAKE PLATE
\ - SOLENOID LEVER
v BRAKE SPRING BOLT
SOLENOID — BRAKE SHOE
EEARE BRI ADJUSTMENT BOLTS
\ = BRAKE SHOE
. ADJUSTMENT NUT
BRAKE SHOE BRAKE SPRING
BRAKE PAD
PRO-GSD
SOLENOID L
SOLENOID :
LEVER Y| =< S O
BRAKE SHOE = o

ADJUSTMENT BOLT

BRAKE _SHOE
ADJUSTMENT NUT ol
BRAKE SPRING BOLT of {7
BRAKE SPRING ) 0
BRAKE DRUM "
BRAKE SHOE P)
BRAKE PAD - = ““

33



Emergency Manual Operation

The operator is equipped with a quick release disconnect system to manually operate door in case of emergency. This feature
should not be used to manually operate a malfunctioning door.

A WARNING A

TO REDUCE THE RISK OF INJURY OR DEATH:

DO NOT ATTEMPT TO USE EMERGENCY DISCONNECT SYSTEM
WHILE OPERATOR IS RUNNING.

POWER TO THE OPERATOR SHOULD BE TURNED OFF PRIOR TO
OPERATING DOOR MANUALLY.

TO AVOID BEING STRUCK BY DOOR ARM, DO NOT STAND
DIRECTLY UNDER THE RELEASE ARM WHEN PULLING THE
RELEASE CORD.

1. Pull disconnect lever downwards and lock in place by bending lever around bracket lip as shown. Manually slide door.

2. Toreturn to electrical operation, slide door to re-align shaft of disconnect bracket with tube of carriage and release (raise)
floor level disconnect lever to allow spring loaded shaft to engage the tube.

34



Operator Maintenance

A WARNING A

TO REDUCE THE RISK OF INJURY OR DEATH:

DO NOT ATTEMPT TO SERVICE THE OPERATOR UNLESS
POWER SUPPLY HAS BEEN DISCONNECTED.

¢ Inspect manual function of the door every 3-months. Make sure that door runs smoothly. If door does not manually open or close
freely, have a qualified service person make repairs. Do not attempt to electrically operate a malfunctioning door.

e Every 3 months:
Verify that door area is kept clean. Remove any obstructions that would prevent proper door operation.
Check for any excessive slack in chains. If chain adjustment is required verify and adjust limit switches, if necessary.
Verify and adjust clutch and brake (Do not lubricate).
Lubricate chains, bearings and limit shaft.
. Verify that motor, solenoid and operator runs smoothly and quietly.
e Every 6 months:
1. Verify tightness of all fasteners and set screws.
2. Verify that operator is properly secured.
3. Inspect manual disconnect.
4. \Verify tension and condition of V-belt.
e Every 12 months:
1. Perform a complete service check.

2. \Verify that inside of control box is clean and that grounding wires, terminations and power terminations do not show signs of
corrosion.

3. Verify tightness of all terminal strip screws and electrical connections.
4. Verify power supply, voltage of input terminals during operation.
5. Verify that current consumption of operator corresponds to nameplate information.

a ko~

35



Sliding Door PRO-SD Single/Bi-part Diagram

36



Trolley Operator Pro-SD Parts List

ARTICLE# DESCRIPTION (PRO-SD) SI;p(l)gII;{E B(I]IIIZ‘I\?'I.'[II'I"“YG
QUANTITY

MMO00003 2 FRAME MSI0003 1 1
MMO00002 3 CONTROL BOX MSI0001 1 1
MMO00001 4 CONTROL BOX COVER MSI0005 1 1
MMO00024 5 CAM PLATE MSI0013 1 1
ME00001 6 LIMIT SHAFT 3/8-1/2 x 9.75" 1 1
MG00030 7 LIMIT CAM 1/2-20 UNF 2 2
MH00001 8 BRONZE T-BUSHING 3/8" ID 2 2
MK00004 9 LIMIT SWITCH 4 4
MJ00006 10 LIMIT SWITCH DOUBLE SPACER 3/4" LONG 4 4
MG00003 11 DOUBLE NUT FOR LIM-SW. 4 4
MFO00003 12 R.H. PHILLIPS MACHINE SCREW 4-40 UNC x 1-1/2" 8 8
MF00004 13 R.H. PHILLIPS MACHINE SCREW 6-32 UNC x 1" 2 2
MO00001 14 CAM PLATE COMPRESSION SPRING (.178IDx.032GX.55L) 2 2
MGO00007 15 HEX NYLON LOCK NUT 6-32UNC 2 2
MHO00006 16 COLLAR 3/8 ID 1 1
MD00200 17 A SPROCKET 41B13 x 1" 1
MDO00007 17 B DRIVE SPROCKET 41B12 x 1" 1

MMO00046 18 CONTROL BOX HINGE 2 2
MI00001 19 MOTOR PULLEY 5L 5/8 ID x 2" OD 1 1
ME00018 20 KEYWAY 3/16 SQ. x 1-1/4" LONG 1 1
MI00002 21 PULLEY 8" OD c/w bushing 3/4" ID 1 1
MIO0006 22 V -BELT 5L-325 1 1
MJ00004 23 CLUTCH PLATE ALUMINUM 3/4" ID 1 1
MQ00007 24 SPRING PIN 1/4" x 2" LONG 1 1
MJ00005 25 CLUTCH PAD 3/4 ID 1 1
MG00014 26 SLOTTED HEX NUT 3/4-24UNF 1 1
MG00004 27 BELLEVILLE WASHER 13/16 IDx1-3/16 x 1/8 6 6
MQ00002 28 COTTER PIN 1/8 x 2.5" LONG 1 1
MF00012 29 CARRIAGE BOLT 5/16-18UNC x 5/8" 4 4
MG00012 30 RIBBED HEX NUT 5/16-18UNC 4 4
MHO00008 31 COLLAR 8/4" ID 2 2
MHO00007 32 COLLAR 1" ID 4 4
MHO00013 33 FLANGE BEARING 3/4" ID x 1-3/8 OD 1 1
MHO00009 34 FLANGE BEARING 1" ID x 2" OD 2 4
MDO00134 35 SPROCKET 41823 x 1" 1
MDO00004 36 SPROCKET 410612 x 1" 1 1
MDO00005 37 SPROCKET 410612 x 3/8" 1 1
MD00008 38 #410 ROLLER CHAIN 49 PITCH C/W CONNECTING LINK 1 1
MDO00003 39 SPROCKET 41B36 x 1" 1 1
MDO00006 40 SPROCKET 41B10 x 3/4" 1 1
MDO00007 41 DRIVE SPROCKET 41B12 x 1" 1
MDO00009 42 #41 ROLLER CHAIN 45 PITCH DRIVE C/W LINK 1 1
ME00003 43 TROLLEY INPUT SHAFT 3/4" x 11-3/4" no kw 1" thread 1 1
ME00005 44 DRIVE SHAFT 1" x 8.75" c/w KW 1 2
MEO00017 45 KEYWAY 1/4" SQ. x 1-1/4" LG 3 5
MD00129 46 #41 ROLLER CHAIN 37 PITCH DRIVE C/W 1 OFFSET LINK+ 1 CONN. LINK 1
MQO00016 47 SPRING PIN 3/16" x 1-1/4" Long 1 1
MQO00005 48 SPRING PIN 3/16" x 1-1/2" Long 1 2
MF00045 49 H.H. SLOTTED SELF ROUNDING WASHER HEAD SCREW 8-32 UNF x 3/8" 8 8
MFO00011 50 H.H. BOLT 3/8"-16UNC x 3/4" LONG 4 10

37



Trolley Operator Pro-SD Parts List

ARTICLE# DESCRIPTION (PRO-SD) S[I),gglff B(;IJTI\T‘I'TII'I"“YG
QUANTITY
MQO00008 51 SET SCREW 5/16" -18 14 20
MQO00009 52 SET SCREW 1/4" -20 5 5
MF00046 53 H.H. SLOTTED SELF ROUNDING WASHER HEAD SCREW 10-32 UNF x 1/2" 5 5
MMO00010 54 BRAKE PLATE MSI0007 1 1
MMO00014 55 SOLENOID LEVER MSI009 1 1
MF00005 56 R.H. PHILLIPS MACHINE SCREW 10-32 UNF x 5/8" 1 1
MQ00001 57 COTTERPIN 1/8 x 1.5" 1 1
MGO00016 58 FLAT WASHER #10 1 1
MG00008 59 HEX NYLON NUT 10-32 UNF 1 1
MMO00011 60 SOLENOID COVER MSI0008 1 1
MK00026 61A SOLENOID 120V 1 1"
MK00027 61B SOLENOID 220V 1* 1
MK00028 61C SOLENOID 460V 1 1~
MK00029 61D SOLENOID 575V 1 1~
MJ00003 62 BRAKE DRUM 1 1
MJ00001 63 BRAKE SHOE LEFT 1 1
MJ00002 64 BRAKE SHOE RIGHT 1 1
MHO00002 65 MILD STEEL BUSHING 9/32ID x 13/320D x 1-1/16 1 1
MO00002 66 BRAKE COMPRESSION SPRING (5/16"ID-.05G-2.50L) 1 1
MG00006 67 HEX NUT 1/4-20UNC 6 6
MG00009 68 HEX NYLON LOCK NUT 1/4-20UNC 2 2
MF00028 69 HEX HEAD BOLT 1/4-20UNC x 1-1/4" (Full thread) 2 2
MF00029 70 HEX HEAD BOLT 1/4-20UNC x 1-3/4" (partial thread) 1 1
MF00044 71 HEX HEAD BOLT 1/4-20UNC x 4" (partial thread) 1 1
MG00017 72 1/4" FLAT WASHER 2 2
MQ00017 73 SPRING PIN 3/16" x 2" Long 1 2
MG00010 74 RIBBED HEX NUT 10-32UNF 6 6
MGO00018 75 LOCK WASHER 3/8" 4 4
MGO00019 76 FLAT WASHER 13/16" I.D. x 1 .50D (3/4" SHAFT SIZE) 2 2
MGO00013 98 RIBBED HEX NUT 3/8" - 16UNC 6
MMO00081 99 JACKSHAFT CENTER MOUNT BRACKET MSI0084 (MODIFIED) 2
MGO00063 130 HEX NUT 10-32 4
ME00050 141 FRAME SUPPORT SHAFT 3/4" x 6" LONG 2
MHO00109 190 PRECISION FLANGE BEARING 3/4" ID x 1-3/8" OD WITH SNAP RING 1 1

38



Sliding Door PRO-GSD Single/Bi-part Diagram

39



Trolley Operator Pro-GSD Parts List

ARTICLE# DESCRIPTION (PRO-GSD) sl;'(\;glff B(;;JTI\?‘I.'[II'I!\IYG
QUANTITY

MC00044 2A GEAR REDUCER CH 55 20:1 (1/2, 3/4, 1HP) 1 1
MC00045 2B GEAR REDUCER CH 70 20:1 (1.5, 2HP) 1 1
MMO00004 3 FRAME GEARHEAD MSI0030 1 1
MMO00015 4 SOLENOID LEVER GEARHEAD MSI0031 1 1
MMO00009 5 GT TUNNEL FRAME MSI0047 1 1
MK00026 6A SOLENOID 120V 1 1~
MK00027 6B SOLENOID 220V 1 1
MK00028 6C SOLENOID 460V 1 1=
MK00029 6D SOLENOID 575V 1 1
MMO00012 7 SOL-COVER GEARHEAD MSI0032 1 1
MHO00007 9 COLLAR 1" ID 2 2
MMO00007 10 GEARHEAD FRAME SUPPORT C-BRACKETS MSI0036 3 3
MDO00300 11 SPROCKET 41814 x 1" 1 1
MHO00009 12 FLANGE BEARING 1" ID x 2"OD 2 2
MMO00002 13 CONTROL BOX MSI0001 1 1
MMO00001 14 CONTROL BOX COVER MSI0005 1 1
MMO00046 15 CONTROL BOX HINGE 2 2
MMO00024 16 CAM PLATE MSI0013 1 1
ME00001 17 LIMIT SHAFT 3/8-1/2 x 9.75" 1 1
MMO00005 18 BACK COVER (FRAME PRO-G) MSI0037 1 1
MDO00300 19A SPROCKET 41B14 x 1" 1

MDO00110 19B SPROCKET 41824 x 1" 1
MDO00007 20 SPROCKET 41812 x 1" 1 1
MHO00001 21 BRONZE T -BUSHING 3/8" ID 2 2
MHO00002 22 MILD STEEL BUSHING 9/32ID x 13/320D x 1-1/16 1 1
MD00029 23 #41 DRIVE CHAIN (63 LINKS (#55 RED), 65 LINKS (#70 RD) 1 1
ME00017 24 KEYWAY 1/4" 8Q. x 1-1/4" LG 4 4
MF00046 25 H.H. SLOTTED SELF ROUNDING WASHER HEAD SCREW 10-32 UNF x 1/2" 7 7
MJ00001 26 BRAKE SHOE LEFT 1 1
MJ00002 27 BRAKE SHOE RIGHT 1 1
MJ00003 28 BRAKE DRUM 1 1
MGO00013 29 RIBBED HEX NUT 3/8" - 16UNC 4 4
MG00030 30 LIMIT CAM 1/2-20 UNF 2 2
MMO00027 31 REAR BRACKET GH (RED 55, 63, 70, 80) (MSI0038) 1 1
MDO00005 32 SPROCKET 410B12 x 3/8" 1 1
MD00025 33 SPROCKET 41 0B23 x 1" bore 1 1
MHO00006 34 COLLAR 3/8 ID 1 1
MDO00036 35 CONNECTING LINK #41 1 1
MG00003 36 DOUBLE NUT FOR LIM-SW 4 4
MJ00006 37 LIMIT SWITCH DOUBLE SPACER 3/4" LONG 4 4
MD00225 38 A #410 ROLLER CHAIN 67 LINKS C/W CON. LINK (FOR REDUCER #55) 1 1
MD00226 38B #410 ROLLER CHAIN 69 LINKS C/W CON. LINK (FOR REDUCER #70) 1 1=
MO00001 39 CAM PLATE COMPRESSION SPRING (.178IDx.032GX.55L) 2 2
MO00002 40 BRAKE COMPRESSION SPRING (5/16"ID-.05G-2.50L) 1 1
MQO00001 42 COTTERPIN 1/8 x 1.5 1 1
MQO00005 44 SPRING PIN 3/16" x 1-1/2" Long 1 1
MQ00009 46 SET SCREW 1/4" - 20 3 3
MQO00008 47 SET SCREW 5/16" -18 12 12
MF00045 49 H.H. SLOTTED SELF ROUNDING WASHER HEAD SCREW 8-32UNF x 3/8" 18 18
MF00003 50 R.H. PHILLIPS MACHINE SCREW 4-40 UNCx1-1/2 8 8

40



Trolley Operator Pro-GSD Parts List

ARTICLE# DESCRIPTION (PRO-GSD) s[l)':‘]glﬁE B(;IJTI\?‘ITII:'“YG
QUANTITY
MF00004 51 R.H. PHILLIPS MACHINE SCREW 6-32 UNC x 1 2 2
MF00005 52 R.H. PHILLIPS MACHINE SCREW 10-32 UNF x 5/8" 1 1
MF00048 55 ROUND HEAD SLOTTED BOLT 1/4-20UNCx1-1/4" (Full thread) 2 2
MF00076 56 HEX HEAD BOLT 1/4-20UNC x 2" (full thread) 1 1
MFO00011 57 HEX HEAD BOLT 3/8" - 16UNC x 3/4" LONG 2 2
MF00044 58 HEX HEAD BOLT 1/4-20UNC x 4" (Not full thread) 1 1
MF00032 59 H.H. BOLT 5/16"-18UNC x 3/4" LONG 4 4
MF00019 60 HEX HEAD BOLT 3/8-16UNC x 1 (Full thread) 2 2
MG00006 61 HEX NUT 1/4-20UNC 2 2
MG00007 62 HEX NYLON LOCK NUT 6-32UNC 2 2
MG00008 63 HEX NYLON LOCK NUT 10-32 UNF 1 1
MGO00009 64 HEX NYLON LOCK NUT 1/4-20UNC 2 2
MGO00011 65 RIBBED HEX NUT 1/4-20UNC 1 1
MF00020 66 HEX HEAD BOLT 3/8-16UNC x 1-1/4" (Full thread) 6 6
MG00016 70 #10 FLAT WASHER 1 1
MG00017 71 1/4" FLAT WASHER 4 4
MGO00018 72 LOCK WASHER 3/8" 10 10
MKO00004 75 LIMIT SWITCH (STANDARD) 4 4
ME00018 7 KEYWAY 3/16 SQ. x 1-1/4" LONG 1 1
MG00010 78 RIBBED HEX NUT 10-32 UNF 4 4
ME00006 80 INTERMEDIARY SHAFT (PRO-HHD/GT) 1" x 10-7/16" 1 1

41



MS100-WW 1-Phase Wiring Diagram

" BRAKE SOLENOID (IF USED)

N.O.
WHITE {* 1;40DTVD§C O BDVeNCED BLUE BDVANCED O
crey 4 1 PHASE Lt swiren O G RCK K J O Lt switen
C-5 —= ED \BLACK
0-6 =——FRLD  f7g]
SEE CORRESPONDING ASTERISKS ON REVERSING STARTER.
“C” DENOTES “CLOSE” SIDE OF REVERSING STARTER.
‘0" DENOTES ‘OPEN’ SIDE OF REVERSING STARTER.
RECEIVER
(1) BRAKE SOLENOID (IF USED) N.C.
Frrond GRaY O cose
[ “prace—| NO.| LIMIT SwITcH
¥ @ WHITE T T3 © ©
MOTOR ORANGE: ORANGE:
ERET 220 VAC A coM ORANGE —ORANGE: coM
Cc-5 1 PHASE UE
ACK
RED HI HI T ey
0-6 <—¥ ORANGE
SEE CORRESPONDING ASTERISKS ON REVERSING STARTER. 0 0
“C* DENOTES “CLOSE” SIDE OF REVERSING STARTER. YELLD ELLOW ==
‘0 DENOTES “OPEN” SIDE OF REVERSING STARTER. E.
UE: GRAY
HITE:
Note: (1) 2 GRAY
TO REVERSE MOTOR DIRECTION INTERCHANGE 3 o
BLACK AND WHITE WIRES ON REVERSING i * . *
STARTER. | I
| | REVERSING MOTOR RELAY
RELAY 11SVAC
o ZZOVA /A _5| 24VAC OR 230VAC
REMOVE BLACK WIRE Q 1 2
FROM C6 AND PLACE ON 04 > 3 4
JUMPER NOT REQUIRED o d K °
(PLEASE REMOVE) = g .
NOTE: Q3 —
—MOTOR RELAY(M), TRANSFORMER = . I
AND SOLENOID (IF APPLICABLE) B3 &
MUST BE 220V. og
—CIRCUIT BREAKER MUST BE 5
APPROPRIATE AMPERAGE. ]
—MOTOR MUST BE WIRED FOR
220V AS SHOWN ABOVE.
IF STOP BUTTON NOT USED,
ADD JUMPER BETWEEN 2 &3. M
= BLACK hed
PURPLE
BLUE
TIME_DELAY UPON_REVERSE. e
(OPTIONAL) T WHITE
IF 1.5 SEC TIME-DELAY UPON SAFET SRy
REVERSE IS REQUIRED. REMOVE THE € | BROWN
PURPLE WIRE FROM TERMINAL #4 , w @ YELLOW
AND CONNECT TO ONE END OF Y I WHITE:
TIME—DELAY AND OTHER END, 2 ERENCE 0ok
BACK TO TERMINAL #4.
(N I TRANSFORMER
I 40 VA
. @/
CONTROL WIRING OPTION ON g I TIME DELAY 15 Sec I I
CLOSE: m COPTIONAL>
@ THIS OPERATOR LEAVES THE < | A L_cen
FACTORY WITH A "C2” WIRING ol Mo —— ORANGE:
— MEANING THAT CONSTANT =z =z I __Egzmgg
PRESSURE IS REQUIRED TO
CLOSE THE DOOR. )
M & = s 3 w 4
IF MOMENTARY OPERATION ON < = [ E a 8 =l = Z
CLOSE (”B2” WIRING) 2 53 2 53 ¢ o 53 x
IS DESIRED, THEN REMOVE 1
THE WHITE WIRE FROM
TERMINAL #5 AND PLACE IT 1
ON TERMINAL #3. Y
A ' A
WARNING GROUND
NICE STRONGLY RECOMMENDS '
THE USE OF ENTRAPMENT é ” /l ‘ é
PROTECTION SYSTEMS WHEN B2 /LI | VL2
(MOMENTARY CONTACT) WIRING
IS USED. '/’ '/’ % '/’ '/’
l l U T T T 1 T I I
NOTE: MINIMUM 18 AWG WIRE - A
MUST BE USED FOR FIELD N Ay PR e 971 SR i S POWER YSUPPLY
CONNECTIONS. 1 2 3 4 5 6 7 8 9 115VAC OR 208,/230 VAC, 1 PHASE, 60 Hz
Phase Wiring Diagram
Ty e EXTERNAL SINGLE PUSH-BUTTON STATION TwO PUSH-BUTTON STATION SAFETY EDGE OPEN-CLOSE RADIO RECEIVER 24 VAC
M S’] OO_ WW INTERLOCK (NO. CONTACT) DEVICE POVER
........ @ (N.O. CONTACTY
REV. J:DATE: 20.02.20 . 5 \ \
TECH. HELP TINE: J
CANADA: 1-(877).888-1116
USA: 1—(888) 816—8584

REMOVE FACTORY

INSTALLED
JUMPER IF EXTERNAL
INTERLOCK
DEVICE IS REQUIRED.

PLACE A NORMALLY 24 VAC
. CLOSED SET OF SAFETY POWER
Nice Group Canada Inc. WIRES ACROSS THESE RDEE\/VEIIESEE DF;:EDP:;MCALNDDSE 50\(/%:&
1380 St Regis Blvd, Dorval, QC H9P 2T5 WS 2

This drawing is strictly confidential and reserved by law. The total or partial reproduction without autorization is prohibited/forbidden

42



MS100-IM-WW 1-Phase Wiring Diagram

(T) BRAKE SOLENDID AF USED>

BLACK [71]

- e —|

* —¢ |
WHITE 72|

EW =

C-5 —~— Y 75
. I
SEE CORRESPONDING ASTERISKS ON REVERSING STARTER.
“C” DENOTES “CLOSE” SIDE DOF REVERSING STARTER.
“0” DENOTES “OPEN” SIDE OF REVERSING STARTER.

(T) BRAKE SOLENDID UF USED)

-

T
X VHITE Tl
72|

s GREY el
75|
78]

RED

0-6 —-——

SEE CORRESPONDING ASTERISKS ON REVERSING STARTER.

“C* DENOTES ‘CLOSE” SIDE OF REVERSING STARTER. N -BROWN

0 DENOTES “OPEN” SIDE OF REVERSING STARTER. YELLOV YELLOW——
JHL

NOTE: TO REVERSE MOTOR DIRECTION RED HITE-
(1) INTERCHANGE BLACK AND WHITE WRES ON BLUE: —— GRAY

WHITE— —GRAY
HITE:

MOTOR
120 VAC
1 PHASE

apvanced O
NC CLOSE
=] O LIMIT SWITCH

Q aDVANCED

OPEN
LIMIT SWITCH O

RADIO
RECEIVER

S
S
Qo

RED

oen . O GRAY cLose
LIMIT SWITCH N.O .0, LIMIT SWITCH

o 0.

©)

MOTOR
220 VAC
1 PHASE

ORANGE ORANGE
-ORANGE ORANGE-

BLUE:
BLACK:

ORANGE:
WHITE:
YELLOW

COM

COoM

REVERSING STARTER.

FOR ZZOVA /A BROW

REMOVE BLACK WIRE
FROM C6 AND PLACE ON 04
JUMPER NOT REQUIRED
(PLEASE REMOVE)

NOTE:

— MOTOR RELAY(M), TRANSFORMER
AND SOLENOID (IF APPLICABLE)
MUST BE 220V.

— CIRCUIT BREAKER MUST BE
APPROPRIATE AMPERAGE.
—MOTOR MUST BE WIRED FOR
220V AS SHOWN ABOVE .

IF STOP BUTTON NOT USED,
ADD JUMPER BETWEEN 2 &
3.

TIME DELAY UPON REVERSE.
(OPTIONAL)

IF 1.5 SEC TIME-DELAY UPON SAFETY
REVERSE IS REQUIRED. REMOVE THE

PURPLE WIRE FROM TERMINAL #4 , A
AND CONNECT TO ONE END OF * BRAY B,
TIME-DELAY AND OTHER END, = PURPLE
BACK TO TERMINAL #4. ) BLUE oo
YELLOW

REVERSING MOTOR RELAY
RELAY 11SVAC
24VAC OR _230VAC

)

o |

a\o—,\or\)
(
I

CONTACTOR
TELEMECANIQUE 24 VAC

N}
I@
o

A\ wice proTo-seavs [
(OR NICE COMPATIBLE A 1 1
MONITORED REVERSING DEVICES)
MUST BE CONNECTED FOR THE
DOOR TO CLOSE IN MOMENTARY U Gh s
MODE. IF MONITORED REVERSING

DEVICES ARE NOT CONNECTED, T

DOOR CAN ONLY BE CLOSED BY

CONSTANT PRESSURE ON CLOSE

AND IF CONSTANT PRESSURE ON
CLOSE IS REMOVED BEFORE
DOOR REACHES FULL CLOSE
POSITION, DOOR REVERSES TO
FULL OPEN.

NOTE: ONLY ONE MONITORED
DEVICE CAN BE CONNECTED TO
P1 AND P2

PRI 11SVAC OR
208/230VAC

TRANSFORMER
40 VA

SEC 24VAC

RED
YELLOW
GRAY——
—ORANGE-
——0ORANGE:
RED——
WHITE:
ORANGE-

FUSE 2A.

A ANY SECONDARY

REVERSING DEVICE(S) WITH A N.O
CONTACT CAN BE INSTALLED TO
SI AND S2. DO NOT REMOVE
RESISTOR UNLESS INSTALLING ON
A 4—WIRE ELECTRIC EDGE.

TIME DELAY 15 Sec
(OPTIONALD

CIF USED>

CONNECT THE BLACK WIRE TO
TERMINAL 1 AFTER ADJUSTING
THE LIMITS.

ore. €2/€2

CONTROL WIRING OPTION ON

[sflks]

< <

= a

OSE: V
65 THIS OPERATOR LEAVES THE

FACTORY WITH A "C2”" WIRING @

® ®

E-

BROWN

YELLD
YELLD
PURPLE:
PURPLE
WHIT!
RED
WHITE
ORANGE
ORANGE
ORANGE

=]
@ 10K
OHM

BLACI

_—-WHIT

— MEANING THAT CONSTANT
PRESSURE IS REQUIRED TO
CLOSE THE DOOR.
IF MOMENTARY OPERATION ON

CLOSE (82" WIRING)
IS DESIRED, THEN REMOVE
THE WHITE WIRE FROM
TERMINAL #6 AND PLACE IT ON
TERMINAL #3.

l GROUND
O O L/L1| IN/L2| ~ O
1

POWER "SUPPLY
115VAC OR 208/230 VAC, 1 PHASE, 60 Hz

24 VAC  STOI coM OPEN CLOSE TEMP OPEN 24 VAC
[l = —
[ NOTE: MINIMUM 18 AWG Wi j POWER PUSH-BUTTONS CLOSE CLOSE

RE
MUST BE USED FOR FIELD CONNECTIONS. 1 2 3 4 S 6 7

1— Phase Wiring Dicgrom EXTERNAL SINGLE PUSH-BUTTON STATION NICE MONITORED PHOTO BEAM SAFETY EDGE DOPEN-CLOSE 24 VAC
DEVICE

M S] OO |M WW INTERLOCK (N.O. CONTACT RADIO RECEIVER POWER
REV.J T DATE: 03.12.90 RADIO
JECH. HELP. LINE: E

(N.O. CONTACT)

CANADA: 1—(877) 8881116
USA: 1-(888) 816-8584

REMOVE FACTORY
INSTALLED
JUMPER IF EXTERNAL

INTERLOCK
DEVICE IS REQUIRED.
PLACE A NORMALLY

24 vac

B s ey REVERSE OPEN-CLOSE AvAlLBE
5 VIRES ACROSS THESE =
Nice Group Canada Inc. TWO TERMINALS. DEVICE COMMAND 10VA MAX.

1380 St Regis Blvd, Dorval, QC HOP 2T5
This drawing is strictly confidential and reserved by law. The total or partial reproduction without autorization is prohibited/forbidden

43




MSL100-110V-WW 1-Phase Wiring Diagram

COM _BLUE COM

ADVANCED
cLOSE

) LIMIT
O switeH

O AUXILIARY
LIMIT
SWITCH

- BLACK ANTENNA

>

—YELLOW=— —1-0RANGE

cLOSE
LIMIT SWITCH
©) O

— GRAY- RED —
COAX
—INT.LDCK-—@ @ ouououl
3 ce_ I FH -
_@ EXT. OPEN B2 /T N\\E2 LIMIT
e RADID @ SWITCH (\__/):
RUN
STDP._@ cose  TIMER U A IF STOP BUTTON
@ USED, REMOVE JUMPER
N BETWEEN "STOP” AND
A OPEN @ LEARN STOP MID. STOP 55 TS ON-BOARD "COM” TERMINALS.
POT3 N-BOA \
[ RADID -
CLOSE @ RECEIVER DO NOT REMOVE
SEq/coM (w4 ___ A THE JUMPER.
NICE MID-STOP TIMER |CM|3 | 5gqec 120SEC. 1 \
FAIL-SAFE SINGLE @ DELAY ON REVERSE [m|2 1 ' i
PHOTO-BEAM MOTOR DIRECTION [Cm| 1 ' 3§FEFC‘ 3OOSEC: &
HITE \ i NICE MONITORED
Pe [>ED ON OFF | IIMER TO CLOSE PHOTO BEAMS OR NICE
B i ! ! — - COMPATIBLE MONITORED
x| frx __J FauLT Z 2
\WHITE /JGRE Y = -3 SAFETY DEVICES MUST
P1 >@ - A L =y BE CONNECTED TO P1
WHITE JGREY | i —=
i . o DELAY ON CLOSE TIMER o _ AND P2 FOR THE DOOR
- @ i i TIMER TO CLOSE TO CLOSE IN
: 1SEC. 60SEC. : SAFETY/PHOTOD — 3 MOMENTARY MODE. IF
10K OHM | DELAY ON CLOSE | MID, STOP © 2 MONITORED SAFETY
1 -PDTZ 1 ) gy DEVICES ARE NOT
s @ Fi Lomme -—-= CLOSE LIMIT CONNECTED, DOOR CAN
0 OPEN LIMIT _ ONLY BE CLOSED BY
ee vac| @ 4 24 VAC CYCLE COUNTER - STOP PB. C 33 CONSTANT PRESSURE
i sabe CLOSE RELAVC 2 | | RP CURE 1S REMOVED
o = [ ol |+ "
2e vac| @ 4 3 S5 OPEN RELAY o BEFORE DOOR REACHES
= [0 0 ] POWER « FULL CLOSE POSITION,
— DOOR REVERSES TO
S FULL OPEN POSITION.
g g NOTE: ONLY ONE
— =z
BRAKE SOLENOID OUT  MD MC MB MA 3z LI/LL2/N % x L3 MO TOREDRC e
> B BE CONNECTED TO P2
SR gl gl 5] |2 gl 1=l 1g] |5 |2 O |fawopr.
sl s s 15 15 IR REIRE
T T T T T T T T USE ONLY IF
g0 5 233 ON—BOARD RADIO
S35 IS NOT USED.
m m m
8 8 L A '
LJ [)
(24 [24

DOT NOT REMOVE
RESISTOR UNLESS
INSTALLING ON A 4—WIRE
ELECTRIC EDGE.

SEC 24VAC

TRANSFORMER
40VA

r

WHITE =

BLACK ==

BLACK

BRAKE
SOLENDID
110 VAC

@ ONE OR MORE
SECONDARY

SAFETY DEVICES (WITH A

IF REQUIRED .|.| N.O. CONTACT) CAN BE
I I @'w' CONNECTED T()) S1 AND S2.
9N%,
O |10 = & REFER TO
QD] - s INSTALLATION
MANUAL FOR
: ! APPROPRIATE SURGE
POWER 'SUPPLY PROTECTOR RATINGS.

110 VAC, 1 PHASE, 60 Hz

1— Phase Wiring Diagram 110V INTERLOCK
MSLT00—110V—WW

REV. E | DATE:20.02.20

TECH. HELP LINE:

CANADA: 1-(877) 888—1116

USA: 1—(888) 816—8584

NICE MONITORED SAFETY DEVICE | 24 VAC POWER | SINGLE BUTTON RADIO RECEIVER

PHOTO BEAN
|®|@| RADIO
ezt

RECEIVER

B

REMOVE FACTORY
INSTALLED JUMPER IF
EXTERNAL INTERLOCK

ASTERISKS ON LOGIC BOARD.

SEE_CORRESPONDING

Nice e
Nice Group Canada Inc. R A AL SE DEVICE AVILABLE | SINGLE BUTTON *
: NO. CONTACT) | 10 VA, MaX, | (NO. CONTACT>

1380 St Regis Blvd, Dorval, QC H9P 2T5

This drawing is strictly confidential and reserved by law. The total or partial reproduction without autorization is prohibited/forbidden

44



MSL100-220V-WW 1-Phase Wiring Diagram

COM

N.O.
(O AUXILIARY
LIMIT

SWITCH NC.

RADIO
RECEIVER

S
S
S

2led

YELLOW
WHITE
ORANGE

CLI
LIMIT SWITCH

©) ©)

— GRAY+ RED .
coAX
—INT‘LEICK-—(:) @ I%l
ce D
H3 He Vi)
| EXT OPEN Be £e LIMIT
ol @ RADIO SWITCH (O
RUN
J CLOSE TIMER T A IF STOP BUTTON
sToP —@ @ VALUE USED, REMOVE JUMPER
N BETWEEN "STOP” AND
A OPEN @ LEARN sToP MID. STOP TS ON-BUARD "COM” TERMINALS.
[POT3] N
RADIO
cose | €D RECEIVER DO NOT REMOVE
SEQ/coM (Cm|4 o _____ THE JUMPER.
NICE MID-STOP TIMER [CM[3 | Socec e .
FAIL-SAFE SINGLE @ DELAY ON REVERSE |mf2 1 i I (
PHOTO-BEAM MOTOR DIRECTION | M| 1 1 3SEC. ! A
HITE bOFF 300SEC. | NICE MONITORED
Pe [ >EH ON OFF | TIMER TO CLOSE PHOTO BEAMS OR NICE
WHITE 1 S [ COMPATIBLE MONITORED
WHITE /[GRE Y —— S QUN OUT TIMER S SAFETY DEVICES MUST
HITE AoRe Y P1 &b - . o BE CONNECTED TO P1
W ! . -1 DELAY ON CLOSE TIMER C 3 AND P2 FOR THE DOOR
= | | TIMER TO CLOSE C 3 TO CLOSE IN
@ I 1SEC. 60SEC. | SAFETY/PHOTD — 23 MOMENTARY MODE. IF
10K OHM | DELAY ON CLOSE | ik SR MONITORED SAFETY
O 1 [FoT2] 1 ' SE DEVICES ARE NOT
sl & Fi - CLOSE LIMIT T 3 CONNECTED, DOOR CAN
N OPEN LIMIT _ 3 ONLY BE CLOSED BY
24 VAC @ b 24 VAC CYCLE COUNTER m sTOP PB. T 2 CONSTANT PRESSURE
& -3 AND IF CONSTANT
RPM CLOSE RELAY C
" e ol 1< SENSOR " ort priay — O PRESSURE IS REMOVED
24 vac g s[5 S5 —] == BEFORE DOOR REACHES
~ =
= oo of POWER FULL CLOSE POSITION,
— DOOR REVERSES TO
S FULL OPEN POSITION.
g g NOTE: ONLY ONE
BRAKE SOLENDOID OUT  MD MC MB MA 5 L<Zzt L1/LLe/N x % L3 MONITORED DEVICE CAN
> & BE CONNECTED TO P2
SBE 2l 18] 12l I8 AREIRENERE O ||aoPr
s[5 SIREIRGIRE SIREIREIREIRE L
T — 11 USE ONLY IF
x ox % % 5 53 ON—BOARD RADIO
- IS NOT USED.
IF USED Q = Q 2
a A N - | | ‘cs
Lo -"E"ST | DOT NOT REMOVE
ITERLDOC
T T [ "-"'. RESISTOR UNLESS
YELLOW INSTALLING ON A 4—WIRE
] ELECTRIC EDGE.
2L g
BRAKE (&} l: (&}
I:I: SOLENDID T = ONE OR MORE
220 VaC | [RaNSRORHER | m > @ SECONDARY
SAFETY DEVICES (WITH A
IF REQUIRED @ @ N.O. CONTACT) CAN BE
i i CONNECTED TO ST AND S2|
b=
= REFER TO
QD |~ ccowo INSTALLATION
MANUAL FOR
e APPROPRIATE SURGE
. PROTECTOR RATINGS.
y " z -~
— Phase W]rmq D]quum 220V INTERLOCK NICE MONITORED SAFETY DEVICE | 24 VAC POWER | SINGLE BUTTON RADIO RECEIVER

PHOTO BEAN

MSL100—220V—WW
REV. £ [ DATE: 20.02.20
TECH. HELP LINE:

CANADA: 1—(8/7) 888-1116
USA: 1—-(888) 816—8584

SI&) SIE) RADIO

RECEIVER

[s2 [ st]

SEE CORRESPONDING
ASTERISKS ON LOGIC BOARD.

REMOVE_FACTORY Sy
INSTALLED JUMPER IF
EXTERNAL INTERLOCK
DEVICE IS REQUIRED. MAMDMB
PLACE A NORMALLY
Bt SAFETY 24 VAC
- WIRES ACROSS THESE REVERSE POWER X
Nice Group Canada Inc. TWO TERMINALS. DEVICE AVILABLE | SINGLE BUTTON
NO. CONTACT> | 10 VA, MaX. | NO. CONTACT

1380 St Regis Blvd, Dorval, QC H9P 2T5

This drawing is strictly confidential and reserved by law. The total or partial reproduction without autorization is prohibited/forbidden

45



MSLC100-WW 1-phase Wiring Diagram

OPEN CLOSE
COM S coM
O AUXILIARY - AINACED IO
LIMIT NG N.C. LIMIT
SVITCH' () foue'? ~BLACK—=+4 O swITcH
~
A
é W U ——
4 &5 2
¥ 3B
— coax
—INT.LDCK-—@ @ o |
|—= c2 m
] H2
— ot || B AN -
TIMER T 2
CLOSE
STDP‘-@ VALUE
— @ @ A IF STOP BUTTON
OPEN @ LEARN  STOP MID. STOP ____ TS USED, REMOVE JUMPER
5073 DN.{fanURD BETWEEN "STOP" AND
*COM" TERMINALS.
cose | €D RECEIVER T
" SEQ/coM [Cm)4 o __ 5 JUMPER NOT
ICANAN MID-STOP TIMER |CM|3 | 395ec. 120SEC. | REQUIRE FOR
FAIL-SAFE SINGLE @ DELAY ON REVERSE |[EJ|2 ] 1 220V, TRANSFORMER AND
PHOTO-BEAM MOTOR DIRECTION (Cm|1 ! S3SEC 1 !
WHITE I OFF 300SEC. | SOLENOID MUST BE 220V.
5 >® ON OFF | TiMgR 7O CLOSE | CIRCUIT BREAKER MUST BH
WHITE 1 1 - APPROPRIATE AMPERAGE.
L _[pomi]_ O FAULT 3
L i 1T e e eIt RUN OUT TIMER C 3 NICE
WHITE/GREY 1 SSEC. 30SEC. | DELAY ON CLOSE TIMER _ 3 MONITORED PHOTO
—— 1 @ 1 TIMER TO CLOSE — BEAMS OR NICE
s2| €D I ! = COMPATIBLE MONITORED
10k oM L—1 L | DELAY ON CLOSE ! SRABINGH S SAFETY DEVICES MUST BE
i i MID. STOP C 3 CONNECTED TO PI AND P2
f 1 -2
st @ o e ) CLOSE LIMIT 3 FOR THE DOOR TO CLOSE
o OPEN LIMIT — 33 IN MOMENTARY MODE. IF
24 VAC @ = 24 VAC CYCLE COUNTER STOP PB. _ MONITORED SAFETY
& RPM  CLOSE RELAY T 2 DEVICES ARE NOT
u | ke ol |« SENSOR " orl pelay © O CONNECTED, DOOR CAN
24 vac| €D 3 S[ 5 S5 _ POVER = 33 ONLY BE CLOSED BY
Cc CONSTANT PRESSURE
| ] AND IF CONSTANT
2 zZ 4 PRESSURE IS REMOVED
zw L2 4 z BEFORE DOOR REACHES
a aa& ¥ OB FULL CLOSE POSITION,
¥ usen DOOR REVERSES TO FULL
@ OPEN POSITION.
GiReuiT A UNTERL I NOTE: ONLY ONE
REAKE MONITORED DEVICE CAN
BLACK BE CONNECTED TO P2
s SR AND PI.
DLack USE ONLY IF
A * 1T BIack 1 ON-BOARD RADIO
v IS NOT USED.
s S S DOT NOT REMOVE
¥ ow ox % fs i RESISTOR UNLESS
2 = 2 sa (26 1L L INSTALLING ON A 4-WIRE
a 3 a i 8y & © ] ELECTRIC EDGE.
g§ 14! peel fael
— gl " g ONE OR MORE
== ég § % % SECONDARY
enm1_ant2| efrs SAFETY DEVICES (WITH A
Ol :/4 .,'(4 '/ﬁ o N.O. CONTACT) CAN BE
'r}} ’i}} % b ¥ o CONNECTED TO SI AND S2
T g2 g BLACK— REFER TO
! 3 & BLACK INSTALLATION
POWER SUPPLY 1 MANUAL FOR
110 OR 220VAC, * » APPROPRIATE SURGE
G 6 PROTECTOR RATINGS.
|- PHASE WIRING DIAGRAM 110/220V TERLDeK SAFETY DEVIEE [ 84 VAC POVER [IShNcLE MITTEW ]| RADID RECEIVER
MSLCI00-WW ) ®l®| | [®l® Ao
REV. D DATE:II.1I.I0 (1oEx] o] (==l | zeaczend
TECH. HELP LINE:
CANADA: 1-(877) 888-l116
USA: 1-(888) 816-8584
REMOVE FACTORY O
IE")?'TEM INTERLOCK
mc: 1s nznumv:n
CLOSED SET IF SAFETY 24 VAC
IRES ACROSS THESI REVERSE POVER
TERMINALS. QuTENTACT | 16 VA WA | S CINTACTY

46



MS300-WW 3-Phase Wiring Diagram

BRAKE SOLENOID <IF USED>

WHIT
BLACK
¥ 0-2 *1 O aDVANCED BLUE:
MOTOR BN N.C
BLUE 2087230, LIMIT SWITCH () b | ACK
0-4 *2

460 OR 575

VAC
3 PHASE

RADIO
SEE CORRESPONDING ASTERISKS ON REVERSING STARTER. RECEIVER

“0* DENOTES “OPEN” SIDE OF REVERSING STARTER. GRA Y sy D

CLOSE
LIMIT SWITCH 0. N.O.| LIMIT SWITCH
O O
ORANGE: ORANGE:!
coM ORANGE: [= ORANGE: coM
HIT Eomgd |_
ORANGE ==BLACK
TE: HIT
hoTE. @ YELLD! ELLD!
TO REVERSE MOTOR DIRECTION 0VN—
INTERCHANGE ANY 2 OF THE 3 2 UE~ UE—
INCOMING POWER LINES 3 e A mm I
CONNECTING TO POWER SUPPLY = 0 0
TERMINAL STRIP L1, L2, L3. UE:
REVERSING
NOTE: @/ €2 o) RELAY
CONTROL WIRING OPTION ON =K 24 vac
CLOSE: o
I <
(€2) THIS OPERATOR LEAVES THE e
FACTORY WITH A "C2" WIRING 85
— MEANING THAT CONSTANT o
PRESSURE IS REQUIRED TO zz
CLOSE THE DOOR. 239
Ui
BE

\F MOMENTARY OPERATION
ON CLOSE ("B2” WIRING) IS
DESIRED, THEN REMOVE THE
WHITE WIRE FROM TERMINAL
#5 AND PLACE IT ON

O

TERMINAL #3. -
GRAY
a |
g 4l |
J A
2, 8 |
Srinlar)
x* 5| t
/A TIME_DELAY UPON REVERSE. g i i
IF 1.5 SEC TIME-DELAY UPON SAFETY E0RcR
REVERSE IS REQUIRED. REMOVE THE % WHITE:
PURPLE WIRE FROM TERMINAL #4 , (=) I PURPLE:
AND CONNECT TO ONE END OF ~ v v BROW
TIME-DELAY AND OTHER END, g ofo YELLOW ELLOvA—-
BACK TO TERMINAL #4. 9 iy E/:;LEE u HITI
S I URPLEf-
| PRI 208/230,
IF STOP BUTTON NOT USED, 2 I < 460 OR 575 VAC
ADD JUMPER BETWEEN 2&3|  &3a = = e
LB @ I ] | 40 VA
- TIME DELAY 15 Sec [re
: .
o [N} [
- g o1z & 5 g & A I
< T 5% £g5 | g § £
= > [ > 3 =1 _DRENGE
A WArRNING | | 1] e
NICE STRONGLY RECOMMENDS
THE USE OF ENTRAPMENT
PROTECTION SYSTEMS WHEN B2 ,
(MOMENTARY CONTACT) WIRING
oy % A% @ Y A
Lef||L3

Q=€
100 S<;
SN

l T T T T |
NOTE: MINIMUM 18 AWG WIRE u._-_..’—éﬁ O—d ]

MUST BE USED FOR FIELD
24 vaC  STOP coM OPEN ~ CLOSE SAFETY  COM OPEN 24 VAC
CONNECTIONS. POWER —— PUSH-BUTTONS ——— DEVICE CLOSE

Y

POWER 'SUPPLY
1 2 3 4 S 6 7 8 9 208/230, 460 OR 575 VAC, 3 PHASE, 60 Hz

53— Phase Wiring Diagram

M SBOO W\N EXTERNAL SINGLE PUSH-BUTTON STATION TWO PUSH-BUTTON STATION SAFETY EDGE DOPEN-CLOSE RADID RECEIVER 24 vaC
o INTERLOCK

REV. | (DATE: 20.02.20
RECEIVER

TECH. HELP LINE:

DEVICE
(N.O. CONTACT)

CANADA: 1—(877) 888—1116
USA: 1-(888) 816-8584

REMOVE FACTORY
INSTALLED
JUMPER IF EXTERNAL
INTERLOCK
DEVICE IS REQUIRED.

PLACE A NORMALLY 24 vaAC
ice e REVERSE OPEN-cLOSE AVAILBLE
. WIRES ACROSS THESE =
Nice Group Canada Inc. TWO TERMINALS. DEVICE COMMAND 10VA MAX.

1380 St Regis Blvd, Dorval, QC HOP 2T5

This drawing is strictly confidential and reserved by law. The total or partial reproduction without autorization is prohibited/forbidden

47



MS300-IM-S Wiring Diagram

HIT GRAY

BRAKE SOLENOID (IF USED>

BLACK @) L BLUE — O
X 0-2 *1 ADESE&“ e ADC\/LADI\éCEED
MOTOR LIMIT SWITCH () o BLACK BLACK | O LIMIT SWITCH
BLUE 208/230, BLACK-
0-4 *2

460 OR 575
VAC

3 PHASE

@
SEE CORRESPONDING ASTERISKS ON REVERSING STARTER. RAY- —RED
“0° DENDTES ‘OPEN’ SIDE OF REVERSING STARTER. OPEN CLOSE
LIMIT SWITCH LIMIT SWITCH
I e O
g w B
g 5 5 DORANGE: ORANGE
NOTE: @ ]5 T ¢ coM ORANGE — ’—i:—DRANGE Cam
TO REVERSE MOTOR DIRECTION i RANGE [BLAck
INTERCHANGE ANY 2 OF THE 3 EEic e
INCOMING POWER LINES RED
CONNECTING TO POWER SUPPLY BLUE:
TERMINAL STRIP L1, L2, L3. BLUE-
————GRAY——
—BROWN
o, @/
CONTROL WIRING OPTION ON
CLOSE:
@FFHS OPERATOR LEAVES THE REVERSIG
FACTORY WITH A "C2” WIRING RELAY
— MEANING THAT CONSTANT 24 VAC

PRESSURE IS REQUIRED TO
CLOSE THE DOOR.

IF MOMENTARY OPERATION
ON CLOSE ("B2” WIRING) IS
DESIRED, THEN REMOVE THE
WHITE WIRE FROM TERMINAL
#6 AND PLACE IT ON
TERMINAL #3.

REVERSING CONTACTOR
TELEMECANIQUE 24 VAC

/\ TIME DELAY UPON REVERSE.

IF 1.5 SEC TIME-DELAY UPON SAFETY
REVERSE IS REQUIRED. REMOVE THE
PURPLE WIRE FROM TERMINAL #4,
AND CONNECT TO ONE END OF
TIME-DELAY AND OTHER END,
BACK TO TERMINAL #4.

PURPLE

ORANGE

GRA

PURPLE-
BLUE

TIME DELAY
[ 15 Sec
| OPTIONAL)

__{IF_USED)_

MOTOR OVERLOAD
RELAY

IF STOP BUTTON NOT USED, INTERFACE MODULE
ADD JUMPER BETWEEN 2 &3.

A NICE PHOTO—-BEAMS

(OR NICE COMPATIBLE
MONITORED REVERSING DEVICES)
MUST BE CONNECTED FOR THE
DOOR TO CLOSE IN MOMENTARY
MODE. IF MONITORED REVERSING
DEVICES ARE NOT CONNECTED,
DOOR CAN ONLY BE CLOSED BY
CONSTANT PRESSURE ON CLOSE
AND IF CONSTANT PRESSURE ON
CLOSE IS REMOVED BEFORE
DOOR REACHES FULL CLOSE
POSITION, DOOR REVERSES TO
FULL OPEN.

NOTE: ONLY ONE MONITORED
DEVICE CAN BE CONNECTED TO
P1 AND P2

3
460

| TRANSFORMER E
40 va ﬁ
] ]

@ —ORANGE-
ORANGE-
ORANGE-
w
=
I
=

RI 208/230,
OR 575

(IF USED>

BLACI
BLACK

RED—!

(IF USED>

MOTOR INTERNAL
THERMAL O/L

URPLE

YELLD
YELLD
PURPLE
WHITE
RED
WHITE
ORANGE
BLACK:
ORANGE-
ORANGE
BROWN

ANY SECONDARY
REVERSING DEVICE(S) WITH A N.O
CONTACT CAN BE INSTALLED TO
SI AND S2. DO NOT REMOVE

RESISTOR UNLESS INSTALLING ON
A 4—WIRE ELECTRIC EDGE. %

@)

CONNECT THE BLACK WIRE
TO TERMINAL 1 AFTER

)
. o<e 5
& A od—F

MUST 2P4EI‘«>/EARC ST‘—DP EEQH—BUTEEEQ—‘CLDSE CTLEDMSPE CDLPDESNE a4 vac |WHITE' N LACK]
BE USED FOR FIELD POWER SUPPLY
CONNECTIONS. 1 2 S8 4 S 6 7 8 RX 208/230, 460 OR 575 VAC,
VHITEN=/BLACK 3 PHASE, 60 Hz
M SZ)OO_ ] M _ S EXTERNAL SINGLE PUSH-BUTTON STATION NICE MONITORED PHOTO BEAM SAFETY EDGE DOPEN-CLOSE 24 VAC
INTERLOCK (N.O. CONTACT> DEVICE RADIO RECEIVER POWER
(N.O. CONTACTY

REV. [[DATE:15.02.21
TECH. HELP LINE:
CANADA: 1-(877) 888-1116

USA: 1-(888) 816—8584

RADIO
RECEIVER

REMDVE FACTORY

INSTALLED
JUMPER IF EXTERNAL £/GRAY

INTERLOCK
DEVICE IS REQUIRED.
PLACE A NORMALLY

WHITE WHITE/GRAY 24 VAC

: T OF SAFETY POWER
Nice Group Canada Inc. e P e LA REVERSE OPEN-CLOSE AVAILBLE
DEVICE COMMAND 10VA MAX.

1380 St Regis Blvd, Dorval, QC H9P 2T5 TWO TERMINALS.

This drawing is strictly confidential and reserved by law. The total or partial reproduction without autorization is prohibited/forbidden

48



MSL300-WW 3-Phase Wiring Diagram

COM

P>

—BLUE

ADVANCED
CLOSE
LIMIT
SWITCH

-BLACK

ANTENNA

O
E GRAY+
COAX
—INT.LDCK-—@ @ STLTLY
ce m
H3 He
cw-—@ ext,  OPEN B2 T N\\E? LIMIT
RADIO SWITCH o
RUN (O r—
—STDP-—@ CLOSE TIMER T (e
@ @ VALUE A IF STOP BUTTON
N USED, REMOVE JUMPER
A OPEN @ LEARN sToP MID. STOP TS BETWEEN "STOP” AND
o3 ON-BOARD "COM” TERMINALS.
RADIO L )
cose | @ RECEIVER
SEQ/cOM ([Cm|4 _ ____________
NICE MID-STOP TIMER (CM|3 | Sosec 120SEC. |
FAIL-SAFE SINGLE @ DELAY ON REVERSE |m|e2 1 ' I NICE MONITORED
PHOTO-BEAM MOTOR DIRECTION |Cm|1 | S3SEC. ! PHOTO BEAMS OR_NICE
HITE T i Lo SUNTe, COMPATIBLE MONITORED
i P2 & , TIMER TO CLOSE SAFETY DEVICES MUST BE
1 1 ] CONNECTED TO P1 AND
[POT1]
WHITE /|GRE Y —— SO SO il = P2 FOR THE DOOR TO
>® r-——— ———- L S CLOSE IN MOMENTARY
WHITE/|GREY ——— I SSEC, 30SEC. | DELAY ON CLOSE TIMER _ 3 MODE. IF MONITORED
: : TIMER TO CLOSE C SAFETY DEVICES ARE
se| @ | 1SEC, 60SEC. | SARETY/PLOID E O NOT CONNECTED, DOOR
10K OHM | DELAY ON CLOSE | = CAN ONLY BE CLOSED BY|
i i MID. STOP o o CONSTANT PRESSURE
S @ £ (I LELE=] R CLOSE LIMIT T 3 AND IF CONSTANT
N OPEN LIMIT PRESSURE IS REMOVED
e 24 VAC CYCLE COUNTER -3 BEFORE DOOR REACHES
e vac| @ s STOP PB. o FULL CLOSE POSITION,
o sl CLOSE RELAY C o DOOR REVERSES TO FULL
@ 4] =| |y ol I3 — OPEN RELAY — OPEN POSITION.
24 VvAC T POWER — NOTE: ONLY ONE
MONITORED DEVICE CAN
1 BE CONNECTED TO P2
e AND P1.
BRAKE SOLENDID OUT MD MC MB MA -4z LI/LL2/N * % L3
L 24
~ o0} (o} n < ™ T o o — o — o O ~
e ERE N =B E] LR USE ONLY ¥
ON—BOARD RADIO
—T— IS NOT USED.
] ] 1
Xk X Fuser MR ( N
NG o DOT NOT REMOVE
| INTERLOCKS (3_4) g i‘) RESISTOR UNLESS
8 18 T g < INSTALLING ON A 4—WIRE
¥ | = A a ELECTRIC EDGE.
| | = [ & ONE OR MORE
S S 353 o o SAFETY DEVICES (WITH A
/m m m > >
208/230 R | TRANSFORMER I N.O. CONTACT) CAN BE
460 VaC o 40va CONNECTED TO ST AND S2.
et PRI 208/230 OR
IF REQUIRED IF USED) . _
& 15 SNl REFER TO
INSTALLATION
GROVND 0 g % ) MANUAL FOR
= '/‘ '/) e bt APPROPRIATE SURGE
< 2 = S S PROTECTOR RATINGS.
mm mm L )
N H ) 1 ] 1L
POWER "SUPPLY I'l
208/230,460 VAC,
3 PHASE, 60 Hz
53— Phase Wiring Diagram
INTERLOCK SINGLE PUSH-BUTTON STATION NICE MONITORED SAFETY DEVICE | 24 VAC POWER | SINGLE BUTTON RADIO RECEIVER
MS _:I)OO_WW PHOTO BEAN
REV. GIDATE:. 20.02.20 ® EIE) . g
__LP LlNE LocK | com sz st g
(877) 8881116 -
888) 816—8584 B
Oz
2
REMOVE FACTORY |;_“_<] gé
INSTALLED JUMPER IF o8
EXTERNAL INTERLOCK A
T e
SAFETY 24 VAC
Nice Group Canada Inc. VIRES ACROSS THESE e i eI SN EREUT ToN *
1380 St Regis Blvd, Dorval, QC H9P 2T5 LGRS (NO. CONTACT> | 10 VA, MAX. | (NO. CONTACT

This drawing is strictly confidential and reserved by law. The total or partial reproduction without autorization is prohibited/forbidden

49



MSLC300-WW 3-Phase Wiring Diagram

COM

>

(O AUXILIARY
LIMIT

RADIO
RECEIVER

SWITCH ()

O

N.C.

COM

—BLUE

ADVANCED
CLOSE
LIMIT
SWITCH

—HORANGE—={O

LOSE
LIMIT SWITCH

O

ANTENNA

P1

GRE Y =—1

WHITE

A

é 10K OHM

24 VAC

24 VAC

e GRAY1 RED T
—INT.LDCK-—@ LTLTLY
ce 11
H3 He
cum-—@ exT.  OPEN B2 T N\F2 LIMIT
RADID SWITCH 0.
RUN (O r—
CLOSE TIMER T Aald
——s10P +—@D VALUE
A OPEN @ LEARN STOP MID. STOP TS
POT3 ON-BOARD
RADIO
CLOSE @ RECEIVER
SEq/cov (w4 _____ A
NICE MID-STOP TIMER |CM|3 | 3ceC 120SEC. 1
FAIL-SAFE SINGLE @ DELAY ON REVERSE |m|2 1 ' i
PHOTO-BEAM MOTOR DIRECTION |Cmf1 1 3SEC i
HITE | OFF 300SEC.!
oo @ ON OFF | TIMER TO CLOSE |
l WHITE !
= L FAULT
WHITE GREY—>®

J2

FUSE 3AMP
J1

:

[
=== !

A : SSEC. 30SEC. :
1 1
1 60SEC. |
1 1
1 1
1 1
[

1SEC.
DELAY ON CLOSE

CYCLE COUNTER

RUN OUT TIMER
DELAY ON CLOSE TIMER
TIMER TO CLOSE
SAFETY/PHOTO

MID. STOP

CLOSE LIMIT

OPEN LIMIT

i STOP P.B.

RPM
SENSOR

CLOSE RELAY
OPEN RELAY
POWER

FACACACACArArIrArIrIrir
[ 1 1 ) R R

COAX

A IF STOP BUTTON

USED, REMOVE JUMPER
BETWEEN "STOP” AND
"COM” TERMINALS.

NICE MONITORED
PHOTO BEAMS OR NICE
COMPATIBLE MONITORED
SAFETY DEVICES MUST BH]
CONNECTED TO P1 AND
P2 FOR THE DOOR TO
CLOSE IN MOMENTARY
MODE. IF MONITORED
SAFETY DEVICES ARE
NOT CONNECTED, DOOR
CAN ONLY BE CLOSED BY]
CONSTANT PRESSURE
AND IF CONSTANT
PRESSURE IS REMOVED
BEFORE DOOR REACHES
FULL CLOSE POSITION,
DOOR REVERSES TO FULL
OPEN POSITION.

NOTE: ONLY ONE

MOTOR
OVERLOAD

BLACK
BLACK
BLACK

ELAY
IF USED)

GROUND

3z W
Z o u
> = 1z
g2 Of n &
MOTOR INTERNAL
U M o m > a IF usen THERMAL O/L
N‘ﬁ IF USED)
HOIST CcoM {
== INTERLOCK/= —N— I
YELLO
GRAY
—t—BLACK
BLACK

SEC 24VAC

TRANSFORMER
40VA

PRI 208/230 OR
460, 575 VAC

BLACK

REVERSING CONTACTOR
TELEMECANIQUE 24 VAC

MONITORED DEVICE CAN
BE CONNECTED TO P2
AND P1.

USE ONLY IF
ON—BOARD RADIO
IS NOT USED.

DOT NOT REMOVE

RESISTOR UNLESS
INSTALLING ON A 4—WIRE
ELECTRIC EDGE.

ONE OR MORE

& SECONDARY

SAFETY DEVICES (WITH A
N.O. CONTACT) CAN BE
CONNECTED TO ST AND S2.

L
& Of = L4 e I
222 22 29 BLACK REFER TO
2 2m 22 22 INSTALLATION
| L] || ] 1 X X X MANUAL FOR
zoaigygzsgusp%uvxac { I'l APPROPRIATE SURGE
3 PHASE, 60 Hz PROTECTOR RATINGS.
3_ Ph ase Wirim g D Iagrom INTERLOCK SINGLE PUSH-BUTTON STATION NICE MONITORED SAFETY DEVICE | 24 VAC POWER | SINGLE BUTTON RADIO RECEIVER
PHOTO BEAN
MSLC300— WW 6 SEEE @@ -
REV. GDATE 20.02.20 | (2l¢] %LE B B

TECH. HELP LINE:

CANADA: 1—(877) 888—1116

USA: 1-(888) 816—8584

Nice Group Canada Inc.
1380 St Regis Blvd, Dorval, QC HOP 2T5

REMOVE FACTORY
INSTALLED JUMPER IF
EXTERNAL INTERLOCK
DEVICE IS REQUIRED.

WIRES ACROSS THESE
TWO TERMINALS,

Bl

DEVI
(N.O. CONTACT>

SAFETY
REVERSE
VICE

24 VAC
POWER
AVILABLE
10 VA, MAX.

SINGLE BUTTON
(N.O. CONTACT>

BRAKE SOLENDID (IF USED)
ASTERISKS ON LOGIC BOARD.

SEE CORRESPONDING

MAMBMC

This drawing is strictly confidential and reserved by law. The total or partial reproduction without autorization is prohibited/forbidden

50



51



Technical Support: Nice North America
877-888-1116 c/o Customer Service
5919 Sea Otter Place, Suite 100

Technical Support Hours: Carlsbad, CA 92010

M - F 8:00 a.m. - 6:00 p.m. ET

Niceforyou.com

©2024 Nice North America LLC.
All rights reserved.

MNO00021 Rev-A



